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OBJECTIVES FOR SECTION ON INTRODUCTION

GENERALIZATIONS .

1. Individuele krow a foreign culture as a set of 1.
images and pictures created for them by commun-
icatoys; they react to these .images rather than
to the real world and real people.

2. Whether or not a country's size provides more
advantages or disadvantages dopends upon the
problems iubabitants face at a particular time,
upcn ‘their goals, and vpon | their 1evel of tech=~ '
no1ogy.- )

3. Tkere are many sources or bases of national pcwer
-in dealing with other countries.

a. Military capacity is an importent factor in :
the development of national power but not the 2.
only one or even the dominasnt one. :

'b Induatrial capacity is an important component :
of national power. 3.

¢. Differences in population and feaour.es nay
be reflected in différences in national power.

< b, The world is a community of interdependent countries.
( Important happenings in one part of the world affect
other parts.) .

5. Anyldecision is, in ﬁart, a/product of the internal-
ized values, the perceptions, and the experiences of
the persons making the decision. :

[:R\j:
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SKTLLS

Attacks problems ip a ratipn:

8. Sets up hypotheses.
b. Sets up ways of testing h

c. Conalders the relsvance o
science disciplines, and
questions asked and the &
used in the relevant disc
enalyze the problem.

d. Considers possible hypoth
ternative courses of acti

Gathers Information effectiv

a. Interprets cartoons.

Uses effective geographic sk

a. Compares areas with known

Evaluates sources of informe

a. Detects inconsistencies.

Organizes and analyzes {nfor
conclusions.
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OBJECTIVES FOR SECTION ON INTRODUCTION

SKILLS

a. Sets up hypotheses.

J

b. Sets up ways of testing hypotheses..

c. Conaiders the ryelsvance of each of “he social

acience discipliuzs, and uses the type of
questions asked and the analyiical concepts

uvsed in the relevant disciplines to help him

enalyze the problem.

ternative courses of action.

Gathers information effectively.

a. Interprets cartoons.

Uses effective geographic skillc.'

a. Compares:areas_with known aress.

Evaluates sources of information.

a. Detects inconsistencies.

l

Organizes and analyzea information and draws

conclusions.
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a. Applies previously-learned concepts and
generalizations to new data. :

ATTITUDES

1. Is curious about social data and wishes to
" read and study further in the social sciences.

2. Feels a sense of responsibility for keeping '
informed about current problems.



OBJECTIVES

IS CURIOUS ABOUT SOCTAL DATA.,

Interprets cartoons.

IS CURIOUS ABOUT SOCIAL DATA.

. .Detects inconsistencies.

Applies previously-learned

concepts and generalizations
t0 new data.

Individuals know a foreign culture -
as a set of imagzes and pictures
created for them by communicators;
they react to these. images rather
than to the reel world and real

. people.

"Fompares areas with known areas.

Applies prev1oualy -learned concepts

and genheralizations.

There are many sourtes or bases of
national power in dealing with
other countries.

OUTLINE OF CONTENT

I. What Red China does affects the life of e

A. China is larger than.the United States;
is smaller than the 1.S5.5.R., it has th
population of-any country in the world.

- extends further north and.south than 4
States.
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UT SOCIAL DATA.
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;eneralizations

nages and pictures
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these images rather
2l world and real

with "known areas.

usly-learned concepts

wow a foreign culture

ticns.

- sources or vases of-
in dealing with-
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OUTLINE OF CONTENT

I. What Red China does affects the 1life of every American.

\

A. China is larger than the United States; although it
is smaller than the 1J.5.8.R., it has the largest
population of any country-in the world. It also

extends further north and south than does the United
States. : '
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TEACHIM. PROCEDURES

Prepare a bulletin board showing the 1mportance of Red Chlna in
world affairs. : .

Project some of the cartoons found in Isesacs’ Inages of Asia and

have pupils identify views {implicit and explicit) which are

indicated by the cartoons. Have them compare their list with
samples of statements under the different classifications
arrived at by Isaacs on the tasis of his interview study of
American leaders. Have each pupil check the views with whic¢h

he agrees. Afterwards discuss: - How consistent are these -

different views? How might each of the views affect pesple's
attitudes toward foreign policy decisions in cur relations
with China? : .

Have pupils examine wall map of the world. Ask: How does

~ Red China compare in size with the U. S.? With Western Europe?

with the Soviet Union? Have DLDllS check their. inititial im-

f_pressions by having a student trace these three areas on

Pleces of acetate from an eqpal-area map of the world. He

should prepare a map overlay for projection with the over-

“head projector. (In the interests of time, the teacher

could prepare such an overlay, could use one prepered by
a stulent in another class, or could project a map showing

" Equal-area map

MATERIALS

Isaacs, Images

Wall map of wor

Wheeler, e
Geog. of ©
Winfield,
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MATERIALS

Isaabs, Images of Asisg.

Wall map of world.

Equal-area map of world. (See
Wheeler, et. al., Regional
Geog. of the World, T. 30L, or
Winfield, China, p. 20).




Difference in ... resources ... may be
reflected in differences in national

power.

‘Whether or not a country's size

provides more advantages or dis-
advantages depends upon the
problems ‘inhabitants face at a
particular time, upon their goals,
‘and upon their level of technology.

Applies previously-learned concepts
and generalizatlons

g

E

Applies previously-learned concepts
and generalizations.

Sets up’hypotheses.

There are many sources or bases of
national power in dealing with other
countries.

Differences in population ... may be
reflected in differences in national
power. :
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these three areas transposed upon one another from a geogr:phy
- textbook. ) .

Or instead a pupil might prepare a graph comparing the area Almanac.
of China with that of the U. S., Western Europe, and the

U.S.S.R. Ask: Why might China's size help make it an

important world power? Would it necessarily do so?

4, Have pupils note the northermmost points in China and the Wall map of worl
U. S. and the southeramost points in Chira and in the ' ’
U. S. Ask: VWhat difference do you think it makes that
China extends both further north and further south than
the U. S.?

5. Have a pupil make a graph to compare the total population
of China, the U. 8., the U.S.S.R., and India. {(Or use the
. graph prepared for the unit on the Soviet Union.) Quote
estimates on how fast the Chinese population is growing.
(e.g., It is estimated that if China continues to grow at
its present rate,- in one decade it will add to its population
a nunber equal to the total population of the U. S. at the
present time.) Remind pupils that they discussed the
poseible advantages and disadvantages of a large population
when studying the U.S.8.R. Discuss: What problems is this
. growth rate likely to make for China? for the world as a
- whole? Does the U. S. need to be concerned about a country

Just beca.use it has such a large population? Why or why
not? _
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Any decision is, in part, a
product of the internalized
values, the perceptions, and
the experiences of the persons

.making.the decision.

Sets up ways of testing hypotheses.

1

.There are many sources or bases

of power in dealing with other
countries. ,

Military capacity is an important’
factor in the development of national
power but not the only only one or
even the dominant one.

-B. The Communists have greatly increa
strength and have exploded ‘atomic
though they do not have a lerge su
and probably will teke a few years §
system which will threaten the U,
in -exploding bombs. gives them add
Asian countries. It also arouses
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E. The Communists have greatly increased Chinese military
strength end have exploded -atomic bombs. Even
-though they do not have a large supply of atomic bombs
end probably will teke a few years to build a delivery
system which will threaten the U, S., their success
in exploding bombs gives them additionel leverage over
Asian countries. It also arouses concern gbout the -
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6. Read aloud-a quotation about the way in which the Chinese
used sheer numbers of soldiers to try to overpower Americans - ‘
and South Koreans during the Korean War. Again discuss Karol, China, Th
advantages and disadvantages of a.large population for p. 35.
military purposes. Perhaps quote Karol on Mao Tse-tung's
views about the importance of manpower in case of war.

7. Have pupils read various comments by Chinese lesders which. "Selected Readin

imply that China could withstand an atomic war better than
some other countries since its population is -so large.
Discuss: Do you agree or disagree with this conclusion? Why?
Suppose that this conclusion is not correct? Wowld it matter at
@)lthen if the Chinese leaders believe it were true? Why or

~ why not? Can you think of =ny reason why Chinese leaders

" might make such a statement even if they did not beliéve 1t
to be true?

Do not analyze the possible ability of China to withstand

- nuclear attack in any detail at this time, since such andlysis

" requires some study of land use, industrial patterns, and pop-
ulation patterns. Rather, tell the class that it will return
to such an analysis later in the unit after it has found out
more sbout China'e geography. At this time, however, list
possible factors which should be studied in order to analyze
the validity of such statements.

8. Read aloud a qpotation or have pupils read articles or state- - Lewis; Communis
ments about measures taken by the Communists to improve China's * Change (pa
military strength. Swisher, China (

' : ' Use Readers' Gu
Show the class pictures of young people being trained and even recent arti
children marching. : For pictures, s

Ribound, -
p. T2-73.
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K&rol, China, The Other Communism,

~p. 35.

"Selected Readings on China."

e
-

Lewis, Communist China: Crlsisl_and
Change (pamphlet]), pp. 36-38.

Swisher, China (pemphlet), p. 90.

Use Readers' Guide to locate mor7
recent articles.

For pictures, sce:
Ribound Three Banners of Chlna,

. T2-T3




future, since Chinese Communists take
militant attitude toward war and show
of the atomic bomb than do Soviet Con

G. There are many sources ur bases

of power in dealing with other
countries. ' '

C. China's economic growth during the 19
that in tne U. S. and India and even
during its early plans. TIts growth h
but still offers a challenge because

G. Industriél capacity is an important propaganda effect in underdeveloped c

component of netional power,

S. Sets up hypotheses.
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future, since Chinese Communists take a much more
militant attitude toward war and show much less fear
of the atomic bomb than do Soviet Communist leaders.

-

ny sources or bases C. China's economic growth during the 1950's surpassed
dealing with other : that in the U. S. and India and even the Soviet Union

o : ' during its early plans. TIts growth has slowed down
but s8till offers a challenge because of 1ts possible
apacity is an important propagarida effect in underdeveloped countries.
national .pover. _ : - b

thegesg,




9

Tell pupils about the explosion. of +the first Chinese atonmic

-bomb., Then have pupils read differing interpretations of what

this explosion meant for the U. S. Have pupils also read
MacNamera's later statement which revised the early U. 5.
position. Discuss: How important do you think this achievement
was for U. S. security now and in the future? Why do you think
many observers thought it dangerous to have China explode a
small bomb when the Soviet Union already had many nuclear bembs

"with far-superior means of delivering them to targets in the

U. 5.7 (Discuss in terms of what pupils have learned about

Soviet-Chinese relationships and differences in attitude toward

war.)

Have a pupil investigate and report on nuclear developmehts since

* the first explosion.

10.

Project a graph comparing economic growth in China during the
1950's with economic growth in U.S.S.R., in India and U. S.
during this same period. Discuss: Do we need to worry about
the rate of economic growth in China? Why or why not? . Tell the
class that China has not published figures on economic output
and growth since the late 1950's. Why might this be so?

Swisher, China (P
Karol, The Other
P. 314,

"Selected Reading
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The world is a community of inter-
dependent countries. (Important
happenings in one part of the world
affect other parts.)

Considers possible hypotheses
and/or alternative courses of
action..

IS CURIOUS ABOUT SOCTAL DATA
" AND WISHES TO READ AND STUDY

FURTHER IN THE SOCTAL SCIENCES.

Detects incongistencies.

-9 -

D, The U, 8. and Red China have a number
policy differences which threaten pea
citizens need to consider all aspects
life before choosing among policy alt
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a community of inter- D. The U. S. and Red China have a number of serious
untries. (Important _ : policy differences which threaten pernce. U. S.
n one part of the world citizens need to consider-a8ll aspects of Chinese

parts.) 1ife before choosing among policy alternatives.

hsgible hypotheses A 4 e
rnative courses of

ABOUT SOCIAL DATA
TO READ AND STUDY
THE SOCTAL SCIENCES.

onsistencies.
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12.

i3.

1.
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Remind pupils of whet they have learned already about the conflict
between China and the U.S.S.R. Point out that they will study
this . conflict in more detail during this unit. They should try
to decide whether or not they wish to change their minds avout
how the U. S. government might best act, given this controversy.

Have pupils read recent newspaper and magazine articles about
important internal affairs in China or about Chin2se policy
conflicts with the U. S. or other countries. Discuss these
articles in terins of their possible implications for the U. 8.

After identifying some of the chief issues between China and the
U. S., have pupils try to identify possible courses of action.
which might be taken on these issues and possible conseguences
of each course of action. Suggest that they try to keep these
alternatives in mind and add others as they study the unit. They
will come back to them at the end of the unit. :

Give pupils the 1967 Foreign Policy Association opinion poll ¢n
possible policies to follow in our dealings with China. Ileve them
check the supporting statements from the list provided with the
poll. After the class has conpiled the results of the pcll in
class, discuss the extent of agreement or disagreement among class
members. Then ask: How consistent were members of this class in
selecting supporting statements for each policy? For which policy

were they least consistent? most consistent? Why might this be
s0? .

Great Decisicns, 1
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Considers the relevance of each of

the social science disciplines, and
uses the types of questions asked
and the analytical concepis uszd in
the relevant disciplines to help
him analyze the problem.

IS CURIOUS ABOUT SOCIAL DATA AND
WISHES TO. READ AND STUDY FURTHER

IN THE SOCIAL SCIENCES.

FEELS A SENSE OF RESPONSIBILITY
FOR KEEPING TNFORMED ABOUT
CURRENT PROBLEMS.

IS CURIOUS ABOUT SOCIAL DATA AND
WISHES TO READ AND STUDY FURTHER
IN THE SOCTAL SCIENCES.

- 1] -
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15. Go over the list of questions which pupils raised ebout China at
the end of the unit on the Soviet Union. Do they wish to add any
questions for study? (The teacher may wish to suggest some too.)
Discuss: What kinds of help should we be able to get from the
different social science disciplines?

Use questions or some kind of pupil unit to present an overview
of the unit. The pupil unit should include pupilst questions,
possible individual and small-group activities, and zn annotated
bibliography. Let pupils suggest other activities, and then indicate
their choices on a sheet of paper. Make assignients the next day.
(Perhaps have pupils select activities for only Parts II and III
now. They could select others at the beginning of Part IV.)

16. Have voluntcers vegin to collect news items about other affairs in
China. Some might focus upon political affairs, some on economic
affairs, and some on changes in the social system. They should

be prepared to .add to the class discussion at appropriate points |
in the unit. )

17. Arrange a browsing period, with books about China displayed on
tables and bookcases. Let pupils look for books they think
they might 1ike and begin reading them. Then if they find
they would prefer a different book, they can return the book
and look for another instead.
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II. Man'uses his physical environment in te
values, perceptions, and level of techno

S. Sets up gypotheées by applying
previously-learned concepts and

G.

generalizations.

Tests hypotheses against data.

Rivers flow from higher elevations
to lower elevations.

A river which moves rapidly carries
with it much sediment and frequently
cuts deep valleys; it tends to cut
relatively straight paths rather
than meandering patterus. ‘

A river which moves 8lowly across a
plain drops gravel and sand that has
moved from higher areas; it also tends:
to twist and turn back on itself

in many loops-~to develop the ox~bow
river pattern.

Temperature is affected by the

~distence from the equator, the

distance from warm water bodies,

air pressure systems, prevailing

winds, and physical features which block
winds. ' :

. Places in the interior of continents

tend to have greater extremes of
temperature than places along the
coast. .

Rainfall is affected by the dis-
tance from bodies of water, air
pressure systems, wind directions,
temperature and physical features
which block_winds carrying moisture.

A, Geographical limitations restrict Chi
productive land to the eastern one-th

under present tephnological levels.

1. The highest part of China is in it

2, The principal components of dhina'
a. A vast land mags.

l) Winter: The rspid and prolo
through radiation brings abo
of an intense and persistent
atmosphere in the regions of
and Eastern Siberia.

2) Summer: When the direct ray
cross the equator and reach
heat absorption exceeds radi
bringe about exceptionally 1
interior western China. I

. time air masses bring moist
. of eastern China.

3) Chbina's dry winter season is
. than the sumer rainy season
_ stronger monsoon system evid

b. The West-Pacific Ocean Location

~ 1) The Southwest Pacific waters
China's moisture.
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IT. Man uses his physical environment in terms of his cultursl
values, perceptions, and level of technology.

A. Geographical limitations restrict China's potentially
productive land to the eastern one-third of her area,
under present technological levels.

1. The highest part of China is in its center.

2. The principal components of China's climate-iﬁclude:

e A vast land mass.

1) Winter:

3)

The rapid and prolonged heat loss
through radiation brings sbout the development
of an intense and persistent high pressure
atmosphere in the regions of Outer Mongolia
and Eastern Siberia. e

Summer: When the direct rays of the sun

cross the equator and reach further north,
heat absorption exceeds radiation. Rising air
brings about exceptionally low pressures in -
interior western China. Inrushing warm, mari-
time air masses bring moisture to large areas
of eastern China. ' :

China's dry winter season is considerably longer

than the summer rainy season, in contrast to the

stronger monsoon system evident in India.

b, The West~Pacific Ocean Location.

1) The Southwest Pacific waters supply most of

China's moisture.
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l Give each student a copy of an outline map of China, showing only See map in Shaba
the rivers of China, no other physical features and no political Map, p. 10.
features. - Have each pupil work alone or have each two pupils ‘
work in groups to prepare a list of all of the things they think

. they can tell about China by looking at this map. (They might

" develop a key and draw on lines to show where they think China's
mountains are ‘located, where lowlands are, etc.) Give the class
sbout ten or fifteen minutes to hypothesize in this fashion.

Now project a transparency of the same mwap and hold a general

~claas discussion. Ask: What were you sble to predict sbout

- Chiva by using this map? Have a clags szeretary write the hye~
potheges on the chalkherrd as they ave listed. Another secwetbary

- ghould keep a list on a sheet of aotehook poper. Fnecuyage
'nnpﬂs o set wp a variz sty of hypotheszs. (As they meke their
przdictlons, bhave them explain their rseasons, ) At this point
eccept all hypothescs, without any negutive comments or reactions
and without any expressions of approval, except for presenting

. an interesting suggestion. Have pupils hypothesize about such
" things as: .

a. Where are the mountains and mountain divides?
b. Where are the lowlands and plains?

"co  What kind of temperstures would you expect to find in the
different parts of China?

d. What kind-of precipitation pattern would you expect to find
- -in different parts of China" :

- As necessary in order to stimulate more ideas, point to certain rivers
'such as those which gtait close together but flow in different
d:lrec‘l::lonssi or those which rise close to the ocean but flow away :
from the ocean or those which tend to take on a braided effect with
many. loops, etc. (probably indicating that rivers are flowing through

- ‘'an alluvial plain), or those (in the west) which seem to stop sbruptly,

- ‘rather than flowing into some other body of water (perhaps 1ndicat1ng

O omething ebout the climate), etc.
ERIC .
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at a copy of an outline map of China, showing only See map in Shabad, China's Changing
ina, no other physical features and no political Map, p. 10.

each pupil work alone or have each two pupils

to prepare a list of all of the things they think
bout China by looking at this map. (They might

d draw on lines to show where they think China's
ocated, where lowlands a~e, etc.) Give the class
fteen 'minutes to hypothesize in this fashion.

rangparsncy of the same map and hold a gencral
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order to stimulate more ideas, point to certain rivers
hich stait close together but flow in different
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wing into some other body of water (perhaps indicating
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wll Toxt Provided by ERIC
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2) In winter, low-pressure centers in the North
Pacific and northern Australia reinforce the
outward movement of the Mongolian cold waves.

3) Clockwise winds crowd north Pacific high
pressure region. During the summer, they
send moisture~laden air into China from the
Southwest Pacific and the South Thins Sea.

" Ce A wide latitudinal range.

:1) Northernmost China is cold to cool for most of
the year.,

2) Southernmost China has tropical or s&btroplcal
weather condltions.' :

d. Four mountain blocks gre’sigﬁificant to Chiha.

1) Himalaya and Tibetan High Plateau (Himalaya
blocks enterence of much moisture to N. W. China
from the South.)

2) Tr.e Tahsuch Shas.
(The Great Snowy mountains, bordering the
- eastern Tibetan Plateau,; creates a barrier
to Pacific moisture further west.)

3) The Ch'in Ling system (Center mountain block),
a) Protects south from Mongolian cold waves.

b) Forms a climatic barrier between north and
south China (Rain shadow effect).

4) South-east hlll and mountain complex.
(Area receives much orographic rainfall. This
region is the wettest in mainland China,
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After pupils have set up a number of hypotheses, have them
check relief maps and maps of temperature and precipitation
to test lheir hypotheses. Preferably, give them individual
maps for each two students. After a short time, hold a
brief discussion in which pupils go over their list of hy-
pothesés, Geciding which ones to accept, reject, or modify.

Be sure that pupils identify on their maps the high and low
pressure systems in summer and winter. Ask: How do these
pressure systems affect China's weather in summer? in winter?
Have & pupil volunteer at this time to investligate monsoons
and their effect upon China. (He should not report until
pupils have conpleted activity #3.)

For a good relie
The Pattern
p. 1586, Or
of China by

See Shabad, Chin
p. 14, For
planation o
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For a good relief map, see Ginsberg;
The Pattern of Asia, 1958, ed.,
P. 158. Or Map of Physiography
of China by A. K. Lobeck.

See Shabad, China's Changing Map,
p. 14, for a good shori ex-
planation of monsoon ‘effects.




S.

Sets up hypotheses.

Sets up hypotheses by applying
previously-learned generalizations.

Tests hyrotheses sgainst data.

Soilbin a particular region is
affected by the ©type of bagic rock
in the region; the climate; the

vegetation; erosion; vind; glaclers;

and rivers which move gzoll; as
well as by how man tiecahs the soil.

Nature changes the character of the
earth through biotic and physical
processes .,

Vegetation is affected by temperature,

‘rainfall, and soil.

-17-

3+ China has an infinite complexity o

a. China's soils can be divided in|
southern groups.

1) North China's goils tend to
veloped uvuler Srassland and
These soils tend to be vich
mtrients,

2) The goils in South Chiana tex
They developed under abunda
forest vegetation. They ten
and poor in humus.

-3) The most important soil of
Calcatrous alluvium develop
plain of the North China lo

4) The alluvial soils of South
and non-calcateous.

b. Vet rice cultivation has develc
soils wh;ch are ideal for rice
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o

3. China has an infinite complexity of soils.

as. China's soils can be divided into northern and
southern groups,

1) North China's soils tend to be podocals, de-
veloped volder Srassland and liadiied wainfall,
These soils terd to be rich in llie pnd plant
outriants,

2) The 2oils in South China tead o be pedalfevs.
They developed under abundant vaivfall and .
forest vegetatlon. They tend to be lcached
and poor in bumus.

3) The most important soil of North China is the
Calcatrous alluvium developed on the flood
plain of the North China lowland.

4) The alluvial soils of South China are leached
and non~calcateous,

be Wét rice cultivation has developed rich paddy -
soils vhich are ideal for rice cultivation.
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2. Discuss: What effect ie the topography of China likely to
have upon the use of rivers for nevigation? (Have pupils
set up hypotheses for checking later.)

3. Have pupils work in couples to set up hypotheses about vege-
. tation zones and soil pulterns in China. Hold a brief class
discussion in which pupils present their reasons for their

hypotheses and develop a class list of hypotheses.

Now have pupils check vegetabtion and soils maps. They should
declde whether or not to reject, accept, or modify the hypotheses
on their Jist. ‘they shonld also disuriss possible Tactows vhich
might explain digovepraneics betireen thoir hypotheses about soils
and the achual wsp of soil patizras. (Be sure to veview heve,

£8 necessery, ¥t pupils learred cbout types of zeils ia their
atudy of the U.S.S.R.} Ask for a veluwntser to check the class'
gueeses sbout other possible factows affeeting soils. He should
not make his report vntil after the class has done activity #5.

4. Now have the volunteer report on mdnsobns in China.




S.

Draws inferences from a comparison
of different map patterns of the
same aread.

Sets up hypotheses by applying
previously-learned concepts and
generalizations.

Population is distributed unevenly
over the earth's surface; many of
the Jand areas are unevenly pop-
ulated,

A nurber ¢f factors-~-climate, sur-
face features, natural resouvces,

accessability and history--affect
settleirent patterns.

M01st areas tend to have a hlgher
population density than dry areas.
However, population distribution
reflects man's values and his *ech-
nology as well as physical features
of an area.

Differing crops need differing a-~
mounts of rainfall and -differing

_temperatures and number of frost-

free days in order to grow; they
need water and dryness at different
times during their period of growth.,

-19-

B. There is an intense population press

1. About 75% of China's population i

cultural activities. 9C% of Chin
lives in farm villages and small

Only from 1/4 to 1/3 of China is
enough, and possessed of good eno
gentle enough' slopes to be consid
agriculture under present technol
This creates an intense populatio
ricultural land.
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B. The

re is an intense population pressure upon the land.

1. About T5% of China's population is engaged in agri-

2.

culturasl activities. 90% of China's population
lives in farm villages and small merket towns.

Only from 1/4 to 1/3 of China is humid enough, warm
enough, and possessed of good enough soils and -
gentle enoush slopes to be considered of valu:z to
agriculture under present technolcgical levels.

‘This creates an intense population pressure on ag-

ricultural land.
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'5. Now have pupils work individually or in couples to set up hy-
potheses about population distribution and agricultural land
use., Perhaps have each decide where he would try to farm 1f
he had his option. (He might place an X on the map to indicate
this choice. And he should also indicate what kind of farming
‘e would .do.) .

Again have pupils look at the map transparency, and hold a
" dbrief class session in which pupils develop & class list of
hypotheses to be tested. -

Now have pupils check population density wops to test their

hypotheses about population and land use mops %o check their

hypothoses gbout agricultuve, Iold a biiel, goneral discussion,
“ o 7in which puplils accept, reject, or wodily theiec hypotheser

Land use map
p. 173.)
wap (Cwe
Miilion,

Now have a pupil report on factors other thon clinate and

vegetation which affect soils aad upon the fextility of the
loess soils. } '
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pils work individually or in couples to set up hy-
out population distribution and agricultural land
s have each decide where he would try to farm if
option. (He might place an X on the map to indicate
. And he should also indicate what kind of farming

pupils look at the map transparency, and hold a
sesgion in which pupils develop a class list of
to be tested. -

ipils check population density wops to test their
about population and land vse paps %o check their
about agriculture. iHold a biiel, gonaral discussion,
:pils accept, reject, or modily theiv hypobheses.

pupil report on factors other then cliiate and
which affect soils aad upon the fertility of the

Land vse map of China. (Giusburg,
Ps 173.) Or land usability
map (Cressey, Land of 500
Million, p. 102, pp. 1£3-123.)
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Soil in a'particular region is

affected by the type of basic rock
in the region, the climate, the vege-
tation, erosion, wind, glaciers, and
rivers which move soil, as well as
by how man treats the soil.

Nature changes the character of
the earth thycouszh biotic and
Physical procesgses.

Man.uses nis phyosieal envirvonrent in
terms of his cunlturval values, per-
ceptions, and level of tachnology. -

Climate may set up limitations wupon
man's activities given a specific
level of technology, but man has

- learned to overcome many of the
-earlier limitations.

Types of agriculture in a region
depend upon man's cultural values,
perceptions, and technology as well
as upon cltmate, goils, and topog-
ragphy.

~2)-
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6. Have each pupil decide whether or wot he wishes to keep his farm
where he origimally marked it or whether, in the 1llght of his new
knowledge, he would move it or ralse something else. On the backs
of thelr maps they should indicate why they ars moving it if they
choose to do so. If class members had originally chosen farm sites
in areas which are not used as widely by the Chinese or if they
chose to raise farm crops not raised in this section by the Chinese,
discuss the following gquestions: (a) Why do you think your choice
of the best farmland seems to disagree with that of the Chinese?
Because of the physical features? because of farming techniques?
because of crops desired?,etc. (Many pupils are likely to chose
to farm in the drier, more level lands where they can raise wheat
and use. farm machinery. Or they may chose to raise primarily
other foodstuffs rather than rice in the wet areas of South-
eastern China. In the diseussion, try to help pupils. understand
the use of the environment in terms of cultural values, perceptions,
and level of technology. . If pupils begin to use statements which
imply geographic determinism-~e.g. The Chinese grow certain crops
in certain places because of the physical features of the area--
.you night have them identify areas in the U.S. of somevhat similar
Thysical features (climate and relief) and have them check to

find out whether or not American farmers grow similar crops there.) ‘




Population distribution reflects
man's values and his technology as
well as physical features of an area.

Given cultural assumptions in which
a large proportion of the population
is engaged in intensive agriculture,
the population distribution will be
related to the dlistribution of
usable land.

A country with a large population

and a limited emount of Ffertile land -

will have extremely high population .
densities on the fexrtile land. -

Overpopulation represents a-lack of
balance between available income and
population. The concept is relative
and 1s definecd by the value patterns
and expectations of a particular
culture. The starvation of a large
proportion of the society amounts

to absolute overpopulation. ‘

T
1
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3. The Horth China Plain has a popula
‘1200 per aguare mile; while the Ya

- & population as high as 3,600 per
Most people coneider China overpop
its present level of development.
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3. The Horth China Plain has a povulation of 800 to
1200 per aguare mile; while the Vanghze Delta has
a population as high as 3,600 per square mile.
Most people consider China overpopulated, given
its present level of development.

-
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7. Have the students compare land use and .s0il maps with a pop-
ulation distribution mep of China. Ask: What would cause
the similarity between the soil map, particularly the alluvial
and loess soils, and population distribution? What. would this
population distribution tend to show about the progress of
industriulization in China? Give the class figures on the
proportion of the population working on farms.

Show land use and population maps of U.S. Have students note
the correlation of population and land use is less. Ask why.
Ask students to note and speculate about similarities in
coirelations between populat*on and mountains and deserts in
both countries.

8. Have pupils check a population density map of China once wore.

Ask: How high are pcpulation densities in the rich agricuitural

areas of China? Have a pupil check population densities for
places like New York City, rural areas of New York, his own
rural or urban area and his state as a whole.

. 9. Discuss: At what point does a country become overpopulated?
Is Western Europe overpopulated? the United States? China?
Try to get pupils to arrive 'at & generalization about over-
population. Be sure that they understand that overpopulation

is relative but that it does have absolute limits. (e.g. Over-

populated if people are starving.)

Cressey, A31a 5 La
p. 43, Gooae!'
Cressey, Land Of T

Land use -and popul
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Cressey, Asia's Lands And Peoples,
p. 43, Goode's Atlas.

Cressey, Land Of The 500 Million,
P 8“‘90 .

Land use and population meps of U.S.



An increase in pogpulation occuxs
when the birth rate plus Jumigran
tion is greater than the death
rate plus emigration.

Drawe inferences from charts.

Changes in the birth and death
rates and in the ratio between
sexes can have important effects

“upon a soclety.

A country in which the proportion
of the population in the age group
from 18 to 30 increases, is likely
to show an.increasing rate of pop~
ulation growth, other factors
remaining the same.

-25-

4, China's rate of population increa

more difficult to raise living le
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k, China's rate of population increase makes it much
more difficult to raise living levels; a number of
factors will affect the future growth rate,.

a. Estimates place China's present population total
. at over 650 million. Given an annusl increase of
2%, by 2000 A.D., Chinat's population will be well
over 1.5 billion or one-half cf the world's
present population.

The wate of pogulation Jnsr:ese will oivdo

constank if the birth and &
ulatlon vew:yin  the s3awme oad @

f 23 of a oD~
2 18 not’

- impnigraticn ow cnigration.

1)

'The Chinege birth rate has tended to remalin
constant while the death rate has tended to
drop. '

1930's -- birth rate 40/1000 .death rate 30/1000
annual rate of increase -- 10/1000 -

1960's -- birth rate 37/1000 death rate 17/1000
. annual rate of increase -- 20/1000

Traditionally China's infant mortelity rate has
been high, Only 60% of the children have
reached 10 years of age. However, medical
knowledge is particularly effcctive in reducing
infent mortality.,

China now has a young population: hl% are under
18 years of age. The expsnding young pop-
vlation will cause a rise in total births, end
a rapid rise in populstion.
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T

Have class figure out present rate of population increase in

. China. One student should look up statistics. At present

rate of increase, what will China's population be in 19707
in 19807 in 2000%?

Ask: What factors would we have to study to try to decide
vhether or not China's rate of population increase is likely
to slow dowm?

Have a clags mauber construct male and female population
pyrenids Tor 1930, 1953, 1960. in China. This stvdent should
explain the concept of the population pyramid to the class
and yoint out trends. {(e.g. lover infant mortality, rise

in population of young adults, rise in birth rate,)

The class should &ctempt to project the trend and construct
probeble population pyramids for 1976. Discuss: If this
trend continues, what will be the probeble result for China's
people? o L '

United Nations Demo




-26-

gure out present rate of population increase in
tudent should look up statistics. At present
ase, what will China's population be in 1970?
20007

ctors would we have to study to try to decide
>t Chinat's rate of population increase is likely

rauber congtruct male and female povulation
1630, 1953, 1960 in China. This stuvdent should
soncept of the popwlation pyramid to the class

£ twenis. (e.g. lower infant mortality, rise

n of young adults, rise in birth rate.)

ould a:c'ie.mpf to project the trend ahd construct
Wetion pyramids for 1976. Discuss: If this

uee, wvhat will be the probeble result for China's

United Nations Demogravhic Yearbook.
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G.

Industrialization and scientific develop-
ments which accompany it, usually

brings on eventusl drop in the birth
rate; however, the death rate usually
drops first, resulting in an initial

Ancreage in the rate of population

growth. .

Congiders alternative courses of action.

In an agricultural economy the rate

of food production must increase as
rapidly as the population if a given
level of living is to be maintained.

-27-

c.

3) Males are in a majority in Chip
an estimated ratio of 107:100 t

c. Traditionally, industrialization

an increase in population growth
a declipe.

Given China‘s physical geography, it
difficult for its rate of increase i
duction to keep up with the increase
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c.

3) Males are in a majority in China's population,
an estimated ratio of 107:100 to 12L4:100,

¢. Traditionally, industrialization has brought about
an increase in population growth before there is
~a decline.

Given China's physical geography, it will be very
difficult for its rate of increesse in food pro-
Cuction to keep up with the increase in population.
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13.
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One student should present a report on the traditional model
of population reasction to industrislization. (Reduction in
infant mortality, weduction in death rate, expanded young
adult population, risas in total births, rapid increase in
population, rise in stendards of living, cultural change,
drop in birth rate.; Ask: At what stage in this cycle is
present-day China? :

Discuss: IFf this amodel is accurate, and China is ir the first
stage nf this medel, at what rate will food picduetion have to
risze 0 maintain coastsnt levels of living for Chipa'ts popu-
lation? What might happen %o ianterfere with the working out
of this model in China? (e.g. declire in birth rate as result
of birth control before drastic decline in death rate; migra-
tion, etc.) If the model does work out in practice, what
implications would you see for Chinese foreign policy?

Discuss: Given China's rate of population increase and its
present population pressure on the land, what do you think
China's leaders might do to try to relieve the problem and

raise living levels? (Ask for possible courses of action

related to agricultural policies, industrialization, etc.)

Now suggest that the class needs to examine the potential

for some of the suggestions, Therefore the class will now
study such questions as: What is the potential for increasing
agricultural production? <for industrialization?

Winfield, China, T
People, pp. 3
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Winfield, China, The Land And The
People, pp. 334-359.
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The topography of a region may
present limitations given a
specific level of technology.

Climate may set up limits upon
man's activities glven a specific
level of technology, but man hag
learned to. overcome many of the
earlier limitations.

Considers alterxnative couvses of
action.

Types of agriculture in a region

_depend uvron man's cultural values,

péreeptions, and technology as well
as upon climate, soils, and top~
ography. . _ -

1. Only 1/h4 to 1/3 of China's land is
agricultural purposes, given the pr
of technology and science.

a. 60% of China's land surface is o
elevation.

b. Much of the land under that alti
.8lopes. N : N
¢, Midh of ithe soil in South China
waile ek of the North is vevry

2. China’s landscape has revlenied the
drive of her psople.

a. In the past the surface of arabl
fragmented into tiny fields whic

~ population pressure on the dist:
zmong sons vpon the death of the
boundary sgtrips for these field:s
ag was the custom of local cemei



-ies gliven a specific
inology, but man has
vercome many of the
vatlions.
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1.

Only 1/k to 1/3 of China's land is usuable for
agricultursl purposes, given the present levels
of technology and science.

as 60% of China's land surface is over 6,500 feet
elevation.

b. Much of the land under that altitude is in steep
slopes.

* cs Mach of the soil in South China-is badly leached,
wnl

2e

1z ~1uh of the HNorxth is vexry avid.

Chinala lardscape has reflsated The sgri*uT‘u Ak
drive of hor people.

a. In the past the surface of arable land has been
fragmented into tiny fields which reflect the
population pressure on the distribution of land
among sons vpon the death of the father. The
boundary strips for these fields were wasteful,
as was the custom of local_pemetary plots.



lh. Ask: From vhat you have learnéd about China's physical Make pie. graphs sho
geography, how much of China's.land do you think is now , of land in Chi
usable for agriculture? Now project a pie chart to show ' . in elevation a
the amount of land over 6,50C feet elevation. Ark: Why o - the proportion

- If pu;ils suzgest that productivity Pper acre mlght be in-
- creezed, tell the class that it will need to study in some-

_ until later.)

16,
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wouldn't this land be useful for farming? Project which is suita
a pie chart to show the estimated proportion of China's _ . at the present
land which is useful for farming at the present time. '

Ask: What wmight sclentists zad b3C1ﬂicians do to tyy to
increase the avea which ecan be fammed? | How alght ,hoy ey
w0 incresse (wod yzoduction in China? Let pupils azake
suggestions. {They are likely to guggest such Hhings as
expanding avess of production by irrigation projects, the
development of new kinds of seeds, etc. They are also
likxely to suggest that agricultural experts might work to
increase productivity per acre in present farming areas.)

what more detall some of the present farming techniques, land
use, and level of productivity. (Put off the study of irri-
gation projects and other types of scientific developments

(«mmm

Have & student pfeseht\a report on wet rice culture. - He - Winfield, China, P
ghould point out the factors involved:  irrigation, terracing, ' Giusburg, Pattern

retaining walls, multiple cropping, intercropping, trans-~
Plantation, and intenblve fertlllzatlon. :
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at you have learned about China's physical

w much of China's.land do you think is now
riculture? Now project & pie chart to show
land over 6,50C feet elevation. Ask: Why

» land be useful for fayming? Project
.0 show the estimated proportion of China's
useful for farming at the present time,

3

REAVAY u"“ntibts and taemiinilcians do to tuy to
axea which can be fanmed? How might they tey
mnod yeoduction din Chiza?  Let pupils aake
(They are likely to suzzest such things as
cag of production by lrrigation projects, the
of new kinds of geeds, etc. They are also
gegest that agricultural experts might work to
‘duetivity per acre. in present farming areas.)

1Zgest that productivity per acre might be in-

. the class that it will need to study in some-
tail some of the present farming techniques, land
el of productivity. (Put off the study of irri-
:cts and other types of scientific developmentc

3

nt present a report on wet rice culture. He

. out the factors involved: irrigation, terracing,
lls, multiple cropping, intercropping, trang~

and intensive fcrtlllzatlon. _

Make pie graphs showing the proportion
of land in China over 6,500 feet
in elevation and an estimate of
the proportion of land in China
which is suitable for farming
at the present time,

Winfield, China, pp. 4662,
Ginsburg, Pattern of Asia, pp. 92-96.




S. .

G.

Sets ggﬁhypotheses.

Man uses his physical environ-
ment in terms of his cultural
values, perceptions, and 1evel
of technology.

'Tests{yggotheses against dats.

-31-

b, Little land is used for ani

1) Hill slopes are used to g
goats and sheep.

2) Pige and fowl, which wtil
also raised,

c. Lack of farm implements redu
©  which it is possible for one

1) In North Chine usmg dry
- cultivates 12 acres, eve
be available.

2) In South China, using we
tivates 3 acres or less.
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his physical environ-
erms of his cultural
erceptions, and level

logy.

otheses sgainst data.

b. Litﬂe land 1s used for animal husbaodcy.

1) Hill elopes are vsed to graze plow animals,
goats and sheep. .

2) Pigs and fowl, which utilize waste products sre
also raised. ..

> ¢, Lack of farm impléments reducés'the'amount of land

which it 13-possible for one. man to cultivate.

l) In North China u31ng dry farmlng, one man
cultivates 12 acrea, even though more land may
be availsable,

2) In South China, uaing wet farming, one man cul- A
tivates 3 acres or less.



s

Discuss: - Given a large family-centered population and wet
rice cultivation, how would you lay cut farms in a given area?
Draw & map on the chalkboard or ditto maps for students
showing a river and surrounding farmleand. Ask the students
to draw in the fields of paddies, homes, etc., in an ideal
menner. (Encourage them to think of various possible patiterns
as well as their ideal patterns. What do they see as the
advantages -and disadventages of each?)

Now have pupils compare thelr hypothetical maps with ‘the photo-
graph of land use shown in Ginsburg. If there are differences,
a8 there will be, sak for reesons, which should prove to be
basically cultural. {e.g. village rather then ,.aolated. faim-
steads, small land hol Jl*zgs, etCa)

Ask students to consider Chinege wet rice cultuie and land use.

pattern, Where would livestock be pastured? What kind of live-

stock would probably be raised? What types of .farm implements
would be used? In this type of agricultural situation, how
much land do you think one man could cultivate? Why? Have one

or more pupils check geography books on China to test ‘these
m'potheses.

Map on chalkboard or 4

- Photo in Ginsburg, Pa
P. 1690

Geography books on ‘C-h
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n a large family-centered population and wet
ion, how would you lay out farms in a given area?
the chalkboard or ditto maps for students

>y and-surrounding farmland. Ask the students

2 fields of paddies, homes, etec., in an ideal
surage them to think of various possible patteins
2ir- ideal patterns., What do they see as the

d disadventages of each?)

8 compare their hypothetical maps with the photo-
use shewn in Glesburg. ID there are differences,
‘be, ask for reasons, which should prove to be
turale f(e.g. village rather than iaoclated farm-
land holéings, etc,) -

to consider Chinege wet rice culture and land use.

:re would livestock be pastured? What kind of live-
robably be raised? What types of .farm implements

? In this type of agricultural situation, how

you think one man could cultivate? Why? FEave one
8 check geography books on China to test these

Map on chalkboard or dittoed maps.

Photo in Ginsburg, Pattern of Asia,
p. 169, '

Geography books on China.



G.

'S.

Compares areas.

Man uses his physical environment

in terms of his cultural values,
perceptions, and level of tech-
nology.

Both man and nature change thé
charscter of the earth.

Man chz.ages the character of-
the earth. (Irrigation makes
it possible to grow crops on
land which otherwise would be

too dry.)

Man changes the character of
the earth. (Terracing makes it
possible to grow crops on areas
which otherwisc would be too
steep. )

-33-

d. In North China, mechanization mi
It 18 questionable whether mzch
used in wet rice culture in Sout

e, In Chira, the amount of culiivats
is sgtdaated at 0.43 neves.

Given China's intensive agriculture

man hour is low. As compared to th
‘for example, we find this compariso

per acre:

, China
Cotton : 5.
Cora and Maize . 14
Winter wheat .23

leen China's situation, her farmin

‘near an optimum.

a. China's soil fertility has been
long and continued use of organi

buA_sigﬁifiéant proportion of China

69% of rice land is irriga
'15% of wheat land is irrig



. BIEAE.

of his cultural values,
ions, and level of tech-

and pature change the
:r of the earth.

iges the character of
the (Irrigation makes
ible to grow crops on
ich otherwise would be

ges the character cf
h. (Terracing makes it
2 to grow crops on areas
therwisc would be too

his physical environment
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3.

k.

d. In Forth China, mechanization might increase yleld.
It is questionsble whether mechenization could be
uged in wet rice culture in South China.

e, In Chioa, the amoint of conliivated land peor ivcon
is satdaated at 0.43 neves.

Given China's intensive agriculture, productivity per
man hour is low. As compared to the United States,

for example, we find this cormparison on man-hour input
per acre:

: China . - U 8.
Cotton : 5% - !
Corn and Maize . 1b : 1
Winter wheat 23 -1

1

leen China's situation, her farming methods may be
near an opt.nmum. . :

-8 Ch:na s soil fertlllty has been maintained through
long and continued use of organic fertilizer.

b.p significant proportion of China's land is irrigated.

69% of rice land is i rrigated.
15% of wheat land is irr;gated.
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17. Show maps and pictures of land use in North China and Manchuria. See map, Cressey, A

Have pupils note the difference in land use patterms, agricultural Peoples, p. 19

methods, and crops raised. Ask: Given the use of hand tools only,
how much lend do you think one man could cultivate? In which areas
(North or South) would advanced farming technology (machinery) be
more useful? Again, have a pupil check geography textbooks on China
to test the class' hypotheses.

18. Put populatior figures §650 million people) and figures on amount
of lend in cultivation (300 million acres--1956) on board. Ask
students to figure out the amount of cultivated land per person.

At the Peginning of this aotivm.ty, have a student look up comparsbile
statistliecs for U.S. Pubt these on the board and have pupils coapare
the figures. (U.S. acresge wiil be about 4 or 5 times as much.)
Also compare the average amount of cultivated land inChira to some
familiar area such as a proportion of a football field.

19. Put a chart on chalkboard comparing productivity per man hour in
China end in U.S. Have the class sumnmarize some of the reasons for
the difference. '

~ Show pictures of peasants working the fields to help pupils under-
‘stand the intensive farming methods used. Also show pictures of
terraced hills and irrigation techniques used to illustrate the way
in which farmers have put forth tremendous phyaical effort in order

to meke as effective use of the little land they have available as
posslble.

Have several pupils use geography textbooks on China to find out the

anewers to the following quentions: How many crops do farmers in

the wetters parts of southern China raise? How is this possible? .

Bow many crops (of wet rice and other grains) are raised in the drier

areasof the rice-reising region? How do farmers try to make the '
+ greatest use possible of their land for several types of crops in

tbe northern areas of China where the growing geason is short?
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Pictures of land use in North China and Manchuria.

ote the difference in lend use patterns, agricultural
crops raised. Ask: Given the use of hand tools only,
do you thini one man could cultivate? In which areas

th) would advanced farming technology (mschinery) bve

Again, have a pupil check geography textbooks on China

lass! hypotheses.

n figures {650 million people) and figures on emount
tivation (300 million acres--1956) on board. Ask
igure out the amount of cultivated land per person.
ing of this activity, have a student look up comparsble
r UsSe Pub these on the board and have puplls cosmpare
{U.5. acresge ill be about % or 5 times as much.)
the average amount of cultivated land inChina to some
3 such as a proportion of a football field.

on chalkboard comparing productivity rer man hour in
U.S. Have the class summarize some of the reasons for
Ce, ’

s of peasants working the fields to help pupils under-
tensive farmming methods used. Also show pictures of

8 and irrigation technigues used to illustrate the way
ers have put forth tremendous physical effort im order
ffective use of the little land they have available as

pupils use geography textbooks on China to find out the
he following questions: Bow msny crops do farmers in
arts of southern China raise? How is this possible?

os (of wet rice and other graine) are raised in the drier
rice-reising region? How do fammers try to make the
Possible of their land for several types of crops in
arcas of China where the growing season is short?

Q

See map, Cressey, Asia's Lands and
Peoples, p. 191.




Man uses his physical environ-
ment in terms of his cultural

values, perceplions, and level -

of technology.

c. Irrigation tends to replenish
addition of silt.

- d. A significant proportion of Ch
terraced. This terracing re

e. The Chinese farmer uses multip
possible,

1)
2)

3)

£, While productivity per man hous
Chinege Parier produces a high
the same as in the U.S.

g. While there is some livestock
China and Manchuria, food yiel
low. Crain is used for human
than animal feed, and natural
particularly in-the winter.

1)

In Southern China three p:2d

In driexr arcas one paddy cx
by 1 or 2 dry crops.

Ta fortheim China, where th:
ghort, inteiplanting of oro

3

While much of China's land
natural grass of South Chin
content and is poor livesto
grass of northwest China 1.
able,.

Animal production might be
duction of a different typ
more sultable for grazing.



C, Irrigation tends to replenish the soil through the
addition of ailt.

d. A significant Qroportion of Gh{na's land is
terraced. This terracing retards erosion.

€« The Chlnese farmer uses multiple cropping where
‘ possible.

1) In Southern China three paddy crops are raiged.

2) In drier arons one. pnaif cvop ls raisnd, follcwed
by 1 or 2 Ary crops.

3) T Morihera China, where the growlng seascu is
ebart, in,e;oJan%ing of crops 1is practiced.

fs While QIOthblvay per men hour in China is 1<, the
"~ Chinese fParumer produces a high yicld per acwe, about
the same.as in the U.S. :

his pbysical environ- ' - ge While there is some livestock production in North

terms o his eultural China and Manchuria, food yields per animal are

berceptions, and level h low. Grain is used for human consumption rather

D1OZY . ' _ than animal feed, and natural feed.is scarce,
particularly in the winter._

1) While much of China's land is under grass, the
natural grags of South China is high in silica
content and is poor livestock feed, while the

grass of northwest China is short and undepend~- -
able,

2) Animal production might be increasea'by the intro-
duction of a different type of grass which is
more sultable for grazing.
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Project oxr put on the chalkboard a chart which compares Pro-
ductivity per acre for some of the same crops. Ask: How can
you explain the difference between the' two charts? Review

, some of the means used to get high productivity per acre.

20. Have g pupil give a report on the reasons for low livéstock pro-
‘duction in China. Then discuss: Is the low production due to

the physical geography of the country? +to cultural developments?
or to both? )

i
i




3)VThe Chirese culture hag .raditionally rejected
‘the use of dairy produc.

h, While fish is a popular .nd valuable source of pro-
tein, the Chinese fish':g indastr) is only partially
develored.

1) It is estimated tha' the Chinese coastal waters
could produce' 10 milion metric tons of fish
per year. In 1955 the Chinese catch was Q.h
million wetric ton.

2) To optimize the esch, the Chincse mst modernize
and expand thelr ishing flect,

~3) In Soutb China, rrLloularly gear lokes, poide
~culture of fish 3 exteansgive. .

4) While demand forfish is extensive throughout
China, refrigersed transport is limited.
Because of the iick of refrigerated trans-
portation facili‘ies, most fish are consumed
locally.. - '

5 Because of the high populstion pressure, the few
cash crops, =214 the lack of transportaiion, most
food is consumed locally.

a. The Ch11ese farmer must cu.tivate and adjust his
diet tc crops that yield maximum calories upon 8
minimm land area-~primarily.

1) Cezeals--85% to 90% of Chinese dlet.

*

Y

,
R
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21. Have a pupil give a report on the fish industry in China. Afterwards,
discuss reesons why more fish are not caught and eaten in China.

22. Ask What kind of food do you think the average Chinese peasant Transportation ma

- would eat? Why? Would the peasant in North China have the same . of 500 Milli
diet as the peasant in South China? Why or why not? What factors (railways) p
would we have to consider hefore we can answer these cuestions? , watervays) p
(Discuss bobth kinds of crops raised in dlfferent parts of China . ibility by 1

and the iransportation’ system.) - _ _ Chang-Tu Hu, Chin
. : and airlines
Shabad,

-

Chira's C
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give a report on the fish industry in China. Afterwards,
ras why more fish are not caught and eaten in China.

ind of food do you think the average Chinese pcasant Transporuatlon maps in Cressey, Land -

'hy? Would the peasant in North China have the same ' of 500 Million People, pe. 157

easant in South China? Why or why not? What factors v " {railways) p. 07 (navigable _

> to consider hefore we can answer these questions? : watervays) pp. 352-353 (access-

. kinds of crops reised in different parts of China - - ibility by land, by sea). -

portation system.) _ ' .Chang-Tu Hu, China, p. 52 (railroads
and airlines)e.

Shebad, China's Changing Map, pp. 8~

- .85 (uransportation lines of China}.




The topography of a region may
present limitations given a
gpecific level of technolcgy.

Man ngses his physical environ-
ment in terms of his culbural
values, perceptions, and level
of technology.

Climate may set up limitations
upon man's activities given a
specific level of technology,

‘but man has learned to over-

come many of the earlier 1limi-
tations., o

Both man and nature change the

“character of the earth.

-390~

2) Starchy tubers (sweet pota
~of Chinese diet.

3) Pigs and Fowl-~animals- tha

6. Almost every part of China that
level is subject to floods. No
floods have been recorded in th

a., Most floods in China are due
or the breaking of dikes. M
North flow between dikes hig
of the countryside. Flood w
of'ten extend to the horizon
wany months. '



ophy of a region may
mitations given a
ael of technology.

115 physicel envivon.-
;s of his cultural
:reeptions, and level
0KV

ay set up limitations
s activities given a
level of technology,
4s learned to over-
of the earlier limi~

and"nature.dhange the
» of the earth.

2) Starchy tubers (sweet potatoes, etc.) 5% to 10%
of Chinese diet.

3) Pigs and Fowl.-animals that use water for food.

, >,
\

- 6. Almost every part of China that is approximately
level is subject to floods. Not less than 1,621 .
floods have been recorded in the last 2,000 years.

a. Most floods in China are due to excessive runoff

. or the breaking of dikes. Many rivers in the
North floy between dikes higher than the level
of the countryside. Flool waters in this area
often extend to the horizon and may persist for
wany months. :



23.

2,

and check them agalnst this data.

40~

Project several transportation maps of China. Ask: If s food
shortage occurs in one ar=a, is it possible to get food to that
erea in time to be of help if focd is available elsewhere?

Have a pupil report on Bersey's A Single Pebble. He should
describe: (1) the difficulties of taking a boat up the river
through the rspids, (2) the ways developed by the Chinese to _
overcome the vapids, (3) the ways in which the American engineer
thought the difficulties could be overcome by different tech-
nology. Be sure to indicate the period in which the story is
set. Ask pupils to return to hypotheses set up in activity #2
Show picture of similar ways
of taking some boats vp the river in Very recent years, under
the Communist regime. 4 v

Then discuss: If a famine took place in the upper region of this
river, how easy could it have been under this kind of technology
to get food there rom elsewhere? How might it be done today?

Now point out that-pupils have been talking about typical diets.
Ask: What kinds of cateastrophe might have brought famine to
China--or at least greatly reduced dieos‘r

. of drought and flocds.)

Have a pupil give a report,»on "Floods in Chinese Eistory." Discuss’:
To what degree are these floods man-mede? Why have they been more
likely tc lead to famine than have serious floods in the U.S.?
(Bring out such factors as already-low levels of.production, poor
transportation, etc.) :

Fessler s et. al.,

* See map of flooded

(Bring out the possitilities Fessler, et. al., C

Hersey, A Sing}wg_f'

;and of the 5
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veral ;transportation maps of China. Ask: If a food
zcurs ip one area, is it possible to get food to that
e to be of help if food is available elsewhere?

il report on Hersey's A Single Pebble, He should

(1) the difficulties of taking a boat up the river
rspids, (2) the ways developed by the Chinese to _
he vapids, (3) the ways in which the Amevrican engineer
e difficulties could be overcome by different tech-
gure to indicate the period in which the story is
pupils to return to hypotheses set up in activity {2
them against this data. Show picture of similar ways
some boats vp the river in very recent years s under

ist regime.

[{}]

ss: If a famine took place in the upper fegion’ of this
easy could it have been under this kind of technology
d there from elsevhere? How might it be done today?

out that pupils have been talking about typical diets.

kinds of catastrophe might have brought famine to

% least greatly reduced dieus? (Bring out the posaitilities
and floods.)

il give a report on "Floods in Chinese History." Discuss:
zree are these floods man-made? Why have they been more ‘
ead to famine than have serious floods in the U.S.?

such factors as already-low levels of ‘production, poor
kion, etc.)

Bl

O

8

Hersey, A Single Peible.

Fessler, et. al., China,

™

See map of flooded areas, Cressey,
-T.and of the 500 Million, p. 1lk.

Fessler, et. al., China. -
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- 5.

Climate may set up limitations
upon man's activities given a
specific level of technology,
but man has learned to-overcome
many of the earlier limitations.

Man uses his physical environ-
ment in terms of his cultural -
values, perceptions, and level
‘of,tech?ology,

Man uses his physical environ-
ment iu terms of his cultural:
values, perceptions, and level
of technology. ' -

Considers alternative courses of

action.

Sets up hypotheses.

~b1-

7'

- from. floods.

" China.

ba Floods\destroy'growing‘crops; cel
may prevent the next planting.

c. Floods are very Gestructive of 1i
people were killed by drowning or]
the 1888 flood.

d. In 1954 floods innundated no less

square miles along the central Ya
Hwal rivers.

Famines may result from severe drouvy

Various propdsals have been made an
out in an attempt to increase food

a. While it is difficult to find mo
some possibilities may be open.

1) Because of the demands of hig
acre, some marginal land hes



- get up limitations
activities given a -
vel of technology, .
learned to overcome
earlier limitations.

s physical e viron-
ms of his cultural
ceptions, and level

EY .

.S physical environ-
'ms of his cultural
rceptions, and level
£Ye

ternative courses of

hotheses.

b. Floods destroy growing cropé; delayed drainage

nay prevent the next planting.

c. Floods are vefy degtructive of life. .Two million
pecple were killed by drowning or starvation in
the 1888 flood.

d. In 195% floods innundated no less than h1,665
squars miles along the central Yangtze and lower
Hwai rivers, .

Famines may result from severe drovgnt as well as

from floods. :

Various propdsals heve been made and even carried
out in an attempt to inerease food production in
China.

a. While it is difficvlt to find more usesble land,
some possibilities may be open.

1) Because of the demands of high production per
acre, some marginal land hes been neglected.
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4P

Heve another pupil give a veport cn Tomines in Chirca, He _
ghould covpare muabers killed with total population of some
elty or area in U.d3. He should also point out reascu for each

- famine he dascyibes. Discuss: fHow might these pevslodiec famines
affect attitudes of Chinese toward the world in which they live?

- tovard the goverament in .cases of femines caused by floods?.

26,

Discuss: Given the situation of an expanding population and a
limited smount of arable land which is being cultivated intensively,
what would you do if you were a leader in China's government to
incrense food production? Have pupils add various possibilities

to the list they made in activity #15. Encourege (through questions)

suggesilons such ag following: (a) incredse productivity or bring
vew lund into production through new machines, seeds, fertilizer,
inseci control, etc., (b) Increase productivity or bring new land
into production through better farming methods such as soil conser-
va.+1on, irrigation, mechanization, raising livestock or fish in
areas that are not now being used, etec.

Stavrianos, Reading:

PP« 714728 (Fu
thite and J’a oby s
"Selected Reaﬂiags o)
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il give a repoxt cn Fomines 1n Chica. He
wbers killed with total populatioca of pome
J.5. He should also point out reasca Tor each
beg, Discuss: fHow wmight these pewledic famines
of Chinese toward the world in which they live?
ament in cases of femines caused by floods?.

the situetion of an expanding population and a

f arable land which is being cultivated intensively,
o 1f you vere a leader in China's government to
oduction? Have pupils add various possibilities
made in activity #15. Encourage (through gquestions)
as following: (a) increase productivity or bring
oduction through new machines, seeds, fertilizer,
ete., (v) Increase productivity or bring new land
through better farming methods such as ‘soil conser-
.on, mechenization, raising livestock or fish in

ot now being used, etc.

Stavrianos, Readings in World Histoiy,
pR. 714718 (From next book. )
hite and Jnooby, Wimmder Qut of Chinpa,
pp. 136-176.
"Selected Readings on China."




S. Tesis hypotheses against data.

S. Generalizes from data.
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be

Coe

d.

€

2) It would be possible to use som
slopes for fruit, nut, or vine

3) It might be possible to open up
increase productivity through i

L) Tt might be possible to use lan
been wasted in boundary strips
plots.

Insect rontlrols, disecase conlcol,
strains and commexcial fertilissig

the yinld por acre.

Mechaaization and Improved tools
duction and sven open up new loads

Improved trangportation facilitiecs
eagler to move fish and other food
where they are produced to aress W
needed; or an improved fishing fle
possible greater catches of fish.

The Communist government has atter
agricultural production per acre a
farm land into production.

1) The Communist government has re
by removing large land holders.

2} The government has collectivize
mey make possible the use of th
 strips which were wasted land
plots which have wasted almost *
arable land.,



~om data.

Les s&gainst data.-

-43-

2) It would be possible to use some land on steep
slopes for fruit, nut, or vine crops.

3) It might be possible to open up new lands or
increase productivity through irrigation.

L} It might be possible to use lands which -have
been wasted in boundary strips and cemetery
plots.

Ingect nontrols, disease conlbeol, betier sead

. stirains 2nd comacrelal fecbtilizmacg wight jnv'ease

Ce

- Qe

‘the: ylald par acre,

Mechaniration and Improved tools wight vaise po-

ductton aind even open up nay londs to bUJquubibﬂa

Improved transportation fuvt1iti»s might wake it
easler to move fish and other food from areas
where they are produced to areas where they are

. needed; or an improved fishing fleet might make

€.

possible greater catches of fish.

The Communist government has attempted to raise
agricultural production per acre and to put more
farm land 1nto production.

1) The Commnnist government has redistributed land
by removing large land holders.

2) The government has collectivized farms. This
mey make possible the use of the o0ld boundary
strips which were wasted land and the cemetery

pléts which have wasted almost 3% of the
arable land.
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. 27« Divide the class into a number of research teams. Each tesem should
investigate one of the above possibilities for increasing food pro-
.duction in China. - Give pupils two or three dsys to work. Then
have each team give a report on the provable effectivehess of its
method for increasing productivity per acre of land or increasing
land in use. Eave a volunteer serve as c¢liass secretary to record

results of these reports and posaible ob:jections whlc‘l pupils raise
to some of the conclusions.

Asia's Lands and P

East by South; Wil

. Side of the River.

See bibliography f
nmaterials--will in
The Pattern of Asis
Chiaa; Winfield, ™

500 ‘Million; Wheel
Regional Geography
Shabad,
The Two Chipa's; K
The World Today;

{he World Tod Today; S




Ll

8 into a number of research teams, Each team should

s of the sbove possibilities for increasing food pro-

o ive pupils two or three dsys to work. Then
give a report on the probable effectiveness of its
eaging productivity per acre of land: or increasing
ave a volunteer serve as class secretary to record
e reports and possible objeétions which pupils raise
couclusions. '

P21

Sce bibliography for lisw. of research
materials~-will include Ginsburg,

. The Pattern of Asia. Chang-Tu Hu,

China; Winfield, China; Cressey, .
Asila's Lands and PeOplPB » and Land of
500 Million; Wheeler, et. al.,
Regional Geography of The World;
Shabad, China's Changing Map; Bell,
The Two China's; - Kohn end Drummond,
The Wworla Today; Spencer, Asia,

East by South; Wilcox, Economies of
the World Today; Snow, The Other

Side of tne River,
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3) The government has introduced large-scale

)

machinery and developed general mechanization.

a) Mechanization depends upon industrial develop~ .=

ment.

In 1955 there were 100 mechanlzed farms.

In 1956 in Manchuria there were 19 tractor
stations or one tractor for 52,000 acres

as compared with 1 tvactor for each 19 acves
of cnltivated land in V.S,

b) Tractors end modern {aploments have made it
rosaible to uge yrass lands ia less humid
Hopgolian fring2lanis. Theve i3 a great
2oal of danger of ernsion da those areas,
howyever, Tack Of ealatll mnkes these arcas
wnveginal.

The government has doune much to increase fvil.
gated areas. The government.claims that 17.2
million acres have been brought under cultivation
during ths first five year plan to provide

China with a total of 75 million acres of irri-
gated land or-one-fourtn of her crop land of

500 milllon acres in 1956.

a) Much of this irrigation was derived from
wells, which may mean that this irrigation
is very limited. Some 900,000 vells were
gunk in three.northern Chinese provinces in.
1956 (Ho-pel, Hon-nan,.Shan~tung)

t) There_are plans for building a major canal to
Join the Han River with the Huang-Ho near:
- Chenz-cheu. This would provide Han River
- water to erlgate the Huvang end Huai River
plains.
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"China's Agriculture," Focus #8,
1960; Gourau, P., "Notes on
China's Unused Uplands, Pacific
Affairs; Spencer,Joseph, "Aerieulture
and Population in Relation to Economic

~ Planning," Annals, A.A.P.S.S.

See Readers Guide for current articles.

See map of irrigated areas, Creasey,
p. 91. :

]
-
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c) While irrigation i3 of great
not a panacea. It may ruin f

_ , lands by concentrating alkel!
i ) ' face layers. JYhere must be ¢
; ' ' ' drain away added watzr under
vater table must be move tha

surface, and initial content

minerals in the soil must be

d) Most acres of North China wh
wvater would be helpful have
gource of supply. - N

-9, Cons1ders alternative courges - ' D. China'’s naturél resources'are'sufficiént
' of action. _ industirialization, but the Chinese face

: . culties in developing them.
S« Checks on the completeness of , ' : -
. .:.data. T - . Note:

T : ' It 18 very 1mportant that the teacher re
of this part of the unit as new informat
available. China's industrial developme:
constant change, and the content below m
before it is taught if it is not revised

The source material listed will also bec
as nev material appears, and appropriate
must be sdbgtituted as it becomzs avalls

.

S, Applies previously-learned concepts 1. China needs trained manpower, mineral
ard generalizations. . : : : better transportation sysitem, better

greater investment if it is to indugt
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c) While irrigation is of great value, it is
not a panacea. It may ruin the soil in dry

- 1ands by conecentrating alkslisa in the sur-
face layers.. There must te euncugh slope to
drain away added watar uncergrourd. The
vater table mist be more than h' below the
surface, and initial content of harmful -
minereles in the soil must be low.

d) Most acres of North China where additional
water would be helpful- have no feazible
gource of supply. - L

‘ternative courses : : D, China's natural regources are -sufficient fbr ccnsiderable
' industrialization, but the Chinese face great diffi-
culties in developing them.

e completenegs of
: Note. .

It is very important that the teacher revise the content

of this part of the unit as new information becomes

available, .China's industrial development is under

constant change;dﬁnd the content below may be obsolete -

before it is taught if it is not revised.

The source msterial listed will also becomc out of date
as nev material appears, and appropriate new material
must be substituted as it becomes svailable.

riously~-learned concepts 1. China needs trained manpower, minerals, power resources,

izations. _ . better transportation system, better technology, and

greater investment if it is to indugtrialize,greatly;'

| [Kc

wll Toxt Provided by ERIC
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28. The class has discussed Chinese agricultural potential, and found
that it is limited. At this point, it would be appropriate to
attempt to develop egeveral alternate approaches to Chineae . ‘
. @conoL..c development. : o ' ' i

Pt - Ask the class: "If China can not realize her projected economic

e development through the development of agriculture, what other

methods are open to her?" Review and add to earlier suggestions

_made in activity #15. The class will probably arrive.at such
methods &8s expansion, industrialization, etc. .List all of these.
methods for checking during the remainder of the unit.: In all’
probability, the clase will agree that the most appropriate method

. to discuss at this time will be industrialization. ‘

Point out the difficu...uies of getting accurate, up-to-date figures
on minera) resourcea and 'nmput.

- 29. Ask: What factors do you think are needed within a country if it
i ' : is to industrialize? Ask follow-up questions if necessary to tiry
: .- %o get yupils to suggest mineral and power resources, trained

|
. ! .




At any specific time the total
economic output is affected by
the quality and quantity of
productive resources (land or
natural resources, labor, and
capital goods), by the level
of technology, and by the
efficiency of the organiza-
tional structure.

Sets up hypotheser

Tests hypotheses against data.-

Economic output is affected by
the quality of labor or labor’
skills as well as by the
guantity of labor.

_hg-.

a.'China has a large population, bu
have an excess of trained indust:

1) China has 83 million people W
areas. With the present effo
izztion, she could perhaps dr
million from rural areas and
the food output.

-




ific time the total

resources. (land or
ources, labor, and
'da ), by the level

gy, and by the ?
of the organiza-<

tput is affected by ' a. China has a large population, but she does not
of labor or labor ' have an excess of trained industrial workers.
ell as by the .

° labor. | : _ - 1) China has 83 million people who live in uchan

areas. With the present effort tow.rd mechan-
izaztion, she could perhaps draw anothér 180
million from rural are~e and still malntain -
the food output. )

i
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workers, transportation and communication facilities, capital
goods, management, and markets for trade. (This should be a
review of ideas learned in earlier units and c~irsss). Discuss:
Do you think thet China has these necessary fsuitcrs? Lev pupils
set up hypotheveg, but help them see the need for further
research.

‘. 30. Set up two groups of students to do research. One should be
assigned to draw a map showing the distribution of mineral
resources. The other ghould draw a map showing transportation,
including water transport, railroads, highways and aircraft.

'These maps should be done on an 8" x 10" sheet of’ paper in

india ink or pencil so that they can be made into transparencies
-and shown on an overhead projector. Each group should also

do research.on the background, the. present status and.the develop-
ment of the topic it is studying. It should present this data

10 the class. The first group should salso consider the particular.
~resources they are studying in rela stion to the all- -over develop-
ment of China's industry.

R

31. Review ‘hinese population figﬁres with the class. Have one
class me.oer look up the population of China's largest urban
centers,

Ask: Can ycu think of any place else that the Chinese could get
industrial workers? (7Wry to ask questions aimed at gebting punils
to suggest that as.agric lture is mechanized, more people will be
free to work in industry.) Also ask: Suppose many Chinese peasants
could be released from agrlcultu"° and brought to the cities,
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Draws inferences from graphs.

Tests hypotheses againgt data.

P

Uses scatter dingram to test

‘Exggpheses.

Rejects assumptions of cause-
effect relationship in_correla-
tions; looks for another factor
which may affect both parts of
a correlations '

2) In 1953, China had only 11
labor force in mining end
compared to 23% in Japan &
States. '

3) A iavge porcentage of indu
engaged in teansportation
a low industrial ocutput fou
In 1930, China had 2C% of
gaged in transportaticn, a
in most other industrial n
transportation network wo
for industry.



ferences Yrom graphs.

pothenes sgaiunst data.

thter Giagrq@_ﬁgnyest

~51-

2)

3)

In 1953, China had only 11% of her estimated
labor force in mining and manufsctu-ing, as
compared to 23% in Japan .and 30% in the United
States. :

L

A lavge garcentage of infuslkiial sangover
engaged in trangportation iszads to indicate

a low ledusirial outp i Por a given mabion.
In 1930, China had 20% ¢f her manpoyer ene
gaged in transportation, as coupared to 5%_
in most other industrial nations. A better
transportation network would release manpower
for industry. ' , :



32.

33.
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What problems would there be in using them in industry? (Compare

with problems faced by the Soviet Union in its early year-,)

Have a pupil make a grarh to compare the percent of the pop~
ulation engaged in mining and manufacturing in China and the
U.S. Discuss the implications in class.

Precgent Ginsburg's generalization to the class. (See 3 in out-
line of content.) Agk the class if bhey +hink that it sounds
cznsible. Presgeut the scatter diagram as a method of chaecking on
bhypotheses,. Have several members of the cluss look up figures

pertaining to the percentage of manpower engeged in. tians-

portation for the U.S., France, England, Portugal, Italy, Chile,
Japan and China. Another group should look up the value of

' manufactured goods for the same countries for the same year.

Construct a scatter diagram on the chalkboard, and check correla-
tion.

When the' diagram is complete, ask the c¢class if this correlation
allows us to say ihat there is a cause and effect relationship
present. Does a *gw percentage of industrial manpower engaged
in transportation cause a country to produce a large quantity

of manufactured goods?(If necessary, point ocut that correlation

does not prove cause and effect relationships. Use examples to
prove this point.)

“ee Broek, Jan O.
Scope and Sp

. Seminar Seri

¢, E. Merril

a descriptio
diagram.

See World Almanac
' for figures.
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ms would there be in using them in industry? (Compare
ns faced by the Soviet Union in its early years.)

1 make a éraph to compare the percent of the pop~
aged in mining and manufacturing in China and the
ss the implications in class.

sburg's generalization to the class. (See 3 in out-
tent.) Ask the class if they think that it sounds

‘to .the percentage of manpower engaged in trans-

hina., Another group should look up the value of .
d goods for the same countries for the same year.
scatter diagram on the chalkboard, and check correla-

_agram is complete, ask the class if this correlation
0 say. that there is a cause and effect relationship
oes & low percentage ‘of industrial manpower engaged
~tation cause a country to produce a large quantity
ured goods?(If necessary, point out that correlation
ove cause and effect relationsbips. Use examples to
point.) ~

|

Preseut  the scatter diagram as a métho@ of checking on
,. Have several members of the class look up flgureq g

For. the U.S., France; England, Portugal, Italy, Chile,

See Broek, Jan 0.M., Géograph;_r_2 its
Scope and Spirig, Social Science
Seminar Series, Columbus, Ohio,.
¢, E. Merrill Books, p. 61, for
a (escription of the scatter
- diagram. o

See World Almanac and Book of Facts,

' for figures.
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G. People use their physical environ- . = b, China has the mineral base for
ment in terms of their cultural L _ dustrialization. Recent disco
values, perceptlons, and level . . mineral potential for industri

of technology. - 7 much better than it seemed onl

(Fote: Decouse the Commmist g

putting wuch effort into mineis

recent yoaxg, the pleture of Ch

“gouress is changing too repidls

here, It is necessery to use t

- _ articles snd books possible in

— . , up~to-date figures on mineral v

S. Sets ug_pypotheses. : ': : ) o L. G Chlné has a high water power ﬁo
A : ; million kilowatts), 2/3 of the U
S. Tests hypotheses against data. ’ _ ' - potential, and 3. 3% of the. worl
G. Power for indusiry is obtained . : - 1) Most of the potentlal lies i
 from the use of coal, o0il, natural _ o populated, and uuderdevelope
ges, water, wind, and 1uulear o the South &nd Vest where the

. energy. . . , S S . . and high rainfall. _
G. The significance of location : 2) Mbst of the potpntial is in
depends upon cunltural develop~ ‘ ~and ice formation restrict d

ments both within and outside " North Chinaa
of a country.
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se their physical environ- *  b. China has the mineral base for considerable in-
terms of their cultural _ ' dustriglization. Recent discoveries have made itis_
perceptions, and level - mineral potential for incustrialization appear
>logy. _ o . : mach better than it seemed only a Ffew years ago. -
(Note: Decomse the Commmist goverrment has he
putting much effort into mineral zxplorsticns !
recent yoaxs, the picture of China's minexal o=
gsoureeg is changing too xepidly to puegent data
here., It iz necessery {to use the wost reccunt
articles snd books possible in order t0 ¢gbtain
up~to-date figures on miperal vcsources. )

-'1ypéthesgg. _ ' _ : C. China has a high water power potential, (300

. million kilowatts), 2/3 of the United State's
notheses against data. ' : .. potential, and 3.3% of the world's potential. -
o indus{;ry is obtained ’ - 1) Most of the potential lies in remote, spé.rsel_y'
use of coal, 0il, natural ' - populated, and underdeveloped mountain areas in

»r, wind, and nuclear the South 8nd ¥osd, Where there are swift rivers

&nd high rainfell. ' _ ‘

.ficance of Tocation - 2) Nost of the potential is in the South. . Silt

spon cultural develop- : and ice formation restrict development in the
vh within and outside : ~ Horth China,

bry.
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35.

~5ha

Ask the class: What is a "natural resource"? By this point, \
_the class probably has the cultural definition well in mind,

but it would be a good idea to reinforce it. This could be
done, if necessar;, by aoklng when, in history,bauxite became
a '"natural resource."

AN,
The group dolng research on minerals. should present its map,
using the overhead projector. It should point out the dis~
tribution of minerals. The teacher should see that any im-
portant content that the group does not cover in its report
is brought out in -the discussion follow1ng the report,. Be sure

" to -discuss the location of minerals in relationship to area of
-dense population. The distribution map should be peogted on the

bulletin board. 7The committee should be sure to check recent
articles and bocks for findings which way contradict earlier

accounts of liwited resources. Discuss: To wiat extent do
you think that China has the mineral regource base to become

a highly industrialized nation?

Proﬁéct a physical map of China showing her river systems.
Ask the class to estimate China's water power potential from

‘the evidence of the map. Ask them to locate the best possible

locations for power dams. Would Scuth or XNerth China be better
for water power? Why? (Ask questions sbout the map designed to
bring out factors of ice formation and slope pf land forms.)

Also discuss: Why do you think that Chine has not developed its
water pover potential to a greater degree, (If necessary, ask
the class to note possible sites for dame in relationship to
industrial areas. How far are they away from such centers?

Also ask: Given China's other resources, is it important for
China to duvelop water power to any great extent? Why or why

not? (How else is electricity made? Does China have the re=~

sources needed to produce electrlclty in this fashion?)

. locate new refere

See recent editio
books and use the

|

Overhead project
Transgarency of
China showi

- gystems.

Or large ph
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1 ok

: What is a "nataral resource"? By this point,
bably has the cultural definition well in mind,
be a good idea to reinforce it. This could be
ssary, by asking when, in history,bauxlte became

ng research on minerals should present its map,
rhead projector. It should point out the dis=-
minerals. The teacher should see that any im~

nt that the group does not cover in its report

t in the discussion following the report. Be sure
e location of minerals in relationship to ares of
sion. The distribution map should be_ pested on the
*de The committee should be sure.to check recent
bocks for findings which way contradict earlier
1imited resources., Discuss: To what extent do
1t China has the mineral resource base to become
1strialized nation? ' '

sical map of China showing her river systems.

s to estimate Chinals water power potential from

of the map. Ask them to locate the best possible
power dams. Would Scuth Oor Nurth China be better.
7er? Why? (Ask questions- about the map designed to
~tors of ice formation and slope of land forms.)

: Why do you think that China has not developed its
potential to a greater degree, (If necessary, ask
note possible sites for dame in relationship to
‘eas. How far are they away from such centers?

iven China's other resources, is it important for
elop water power to any great-extent? Why or why'
lse is electricity made? Does China have the re-
ed to produce electricity in this fashion?)

See recent editions of geography text-
books and.use the Readers' Guide to
locate new references. '

Overhead projector.

- Transparency of a physical map of

China showing major river
systems.
- Or large physical map of Chins,.,



Output can be increased by '

technolOgicai*progressg

Sets up hypotheses.

Tests hypotheses agalnst

_datan
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" d. Inadequate transportation has serious

: a) The government plens to btuild b
control the Huang River. These
- completed, will produce 1lO‘b1-
electrlcity per year. : ’

b) A great deal of development was
churia under the Japanese.

3) A nation with a plentiful supply o_
finds that thermal electricity is
than hydro-electricity.

Fom e

the development'of modern China.

1) Chins nas developed a transportatic
"that is based heavily upon animal
labor; such trensportation is expe
efficlent and slow.

" a) "Coolie" transportation was ver
The sedan chair carrier earned
‘per day, and he traveled slowly
short distances. It is estimat
‘sort of transportation cost fron
cents per mile as compared to 2
‘per mile by railroad. This t
portation restricted the radius
as well as the variety of marke
any one place.

b) Relative Costs of Transportatio

t
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;- a) The government plens to tuild 46 dams to help
: - : " control the Huang River. These dams, when
completed, will produce. llO‘blllion KWH of
electrlcity per year.

b) A great deal of development was done in Man-
churia under the Japanese.

S d)a nation with a plentiful supply of coal often
finds that thermal electricity is lcss expensive
than hydro-electricity.

increased by o ' - 4. Inadeqpate transp0rtation has sprioualy retarded
progreds. o S the development of modern China.

l) China has developed a transportation'network

- that is based heavily upon animal and"coolie"

labor; such transportation is expensive, in-
efficient and slow.

) a) "Coolie" trénspbrtation‘was very expensive.
. The sedan.chair carrier earned about 75 cents

per day, and he traveled slowly and for
short distances. It is estimated that this
sort of transportation cost from 25 to 30
cents per mile as compared to 2 to 3 cents
per mile by reilroad. This type of trans-
portation restricted the radius of trade
as well as the variety of market goods at
.any orie place. .

b) Relative Costs of Transportation in China - 1937.

~



-56-

£
o SR

36. Show piutures to. il] us,trate animal and coolie Jabor Tell the See Gln.sburg ; ‘I'}ue Patt
class that this network of transportation has existed for 7 ~for a table on cor
several centuries. Say: After all, why wouldn't this system : . )
work well under mcdern conditions? ,Chlna has a large pop- Bee Wi'nf?lda (:;alra%d F

- ulation and labor is very inexpensive, Hopefully, the class fig aagiscu:siszp

will arrive at the 1dea that such labor is very inefficient, . transportation
slow, and expensive in comparison with modern transportation : *
methods. If not, ask pupils how such labor would compare on
these three criteria'.".' Let them set up hypotheses. Then pro-
Jeet a table showing comparative costs for different kinds of
transportation,
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o illusirate animal and coolie labor. Tell the . See Glnsburg, The Pattern of Asia,

s network of transportation has existed for for a table on comparative costs.
ies, Say: After all, why wouldn't this system

r modern conditions? China has a large pop- . . See W;nfgélda iﬁra;d F}’ Chiaﬁzagggb

bor is very inexpensive. Hopefully, the class . g fii aagiscu:51§zpo;’tgzéltlo;a13/
the idea that such labor is very inefficient, trensportation

nsive in comparison with modern {ransportation o : ‘.

ot, ask pupils how such lebor would compare on
iteria. Let them set up hypotheses. Then pro-
howing comparative costs for different kinds of

” . L : X . Q
. .
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G.

Draws inferences from & com-

Parison of diftferent map patterns

of the same area.

Improved tr anuportation facile
ities make possible wider and
bigger markets for goods as

vell as greater and less costly
access to resources.

Output is affected by the

quality as well as the quantity

.of natural resources, and the
" quality is affected by access

as well as by richness.

The significance of location
depends upon cultural develop-
ments both within and outside
of a country. :
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3)

River Steamer 100 Hander
Railroad 112 ' Pack A
River Junks 175 "Cooli

9

In 1954, China had only 96,00
Most of these highways were d
though the main routes were m
highways are used primarily £
official purposes,

a) China has only a Pew fens
motor vehicles, mostly tuy

b) China produces little petr
expensive and scavce.

China has only 2 miles of r:
pPeople as compared with 250 i
and 50 miles per 100,000 in W

~a) China's railroads were ini

interests, and her railroa:
coherent plan of developmer

b) The northeast has the best
in China, as a result of Je
ment during World War II. .
half of China's trackage ol
1956,



>rences from a com~
t diftferent map patterns

sransportation facil-
> poss3ible wider and
kets for goods as
ceater and less costly
resources..

affected by the

; well as the guantity
"resources, and the

; affected by access
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River Steamer 100 . llandcrafts 450
Railrdad 112 Pack Animals 425
River Junks 175 "Coolie" carriers 890

‘In 1954, China had only 96,000 miles of highwsys.
Most of these highways were dirt surfaced, al-
though the main routes were macadamized. These
highways are used primarily for strafnglc and
official purposes. :

. a) China has only a faw tens of ‘bhous.uds of

3)

_motor vehicles, mostly tuucks for military use,

b) China produces little petroleum, and fuel is
expensive and scarce.

China 'has_only 2 miles of railways per 100,000

. people as compared with 250 in the United States

and 50 miles per 100,000 in Western Europe.

a) China's railroads were initiated by foreign
interests, and her railroad network shows no
coherent plan of development.

b) The northeast has the best railroad network
in China, as a result of Japanese develop-
" ment during Vorld Var II. This area had one-
half of China's trackage of 16,800 miles in
19565,



37. The transportation group chowld present its me), using an over-

O

ERIC

Aruitoxt provided by Eic:

head projector. The group should point out the distribution of
China's transportation fncilities in relationship to srea of
population density and+to winesal resources. The teacher should
wake sure that any impertant content that is not coversd by the
group is covered in discussion £ollowing the »eport. Discuss:
Vot effect does the transportation synitem huve upon the use of
mincral resources? the distribution of focd? How hard will it
ve to industrialize Ihina to auy grsat oxtent without wuch
grzater development of binesportation facilities?

See transportatinn
Hu, Chang-tu, Chi:
airlines, p.
~ Do 55.
Shabad, Theodore,
Map, Transpo:
Chiua, p. &k
Crcssey, Ceorge B
Hi)lion, Nav]
. 87, railwm
accecsibilit
accessibllit
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r. The group should point out the distribution of
portation fnecilities in relationship to area of
neity and to minesal rcsources. The teacher should
4 any important conlent that is not coversd vy the
red in dlscussion Pa:lovi*g the @eport., Discues:
oes the tranzportation gyoham have npon the use of
wees? | the\ﬂis““lbutlon of fnnd? How hard +ill it
ialize  Ohira to auy great oxtent without auch
opment of 5“ua,portuuion facilities?

O

ERIC
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See transportation mops as follows:

‘Hu, Chang-tu, Chiza, railroads and

airlines, D. 53, maJor hlghwayu,-

Ps 55

~ Shabad, Theodore, China's Changing

Map, Transportation iines of
China, p. &b,
Cressey, Ceovge Bo, land of 500
V111lon, Navigable watervays,
. 87, railways, p. 157,
a000351bility oy land, p. 352,
acce“sibillty by gea, p. 353.



Some things can be produced better
in one place than in another bhe-
cause of climate, resources, tranz-
portation routes, access to re-
sources, access to markets, pcople's
skills, etc. ' '

Sets up hypotheses.

Tests. hypotheses azainst data.

People in most societies of the
world depend upon people wno live
in other communities, regions and

countries for goods and services and for

markets for their gcods.
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2.

-accessable to foreign intercourse. A&

c) The railroads in south China
spaced. Many areas are loca
from the nearest railroed.
-parallels the Yang-Tzu river
number of lines feed into it
system. ’ -

d) North-south railroad lines c
northern. Siberian ard Korean
Vietnzm and the Kpamé-tung c

4) While about 24,200 miles of inl:
are considered navigzble by d4ir
types of craft in China, 2/3 of
are usable only by flat bottiu
SEnBANS . ~

5) China is also short of coastal
shipping. She has uander 500,00
her estimated minimum needs.

Before 1937, Chinese industrial deve
fined to gix areas, all of which were

were located near the eastern China
a, Liao-ning province in Southern Man

There are. iron and steel mills at
railway shops, shipyards and ceme
. well as important chemical plants
the area. An automobile plant ca
~ducing 30,000 trucks per year was
at Ch'ang-ch'un.
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c) The railroads in south Chins are more widely
spaced. Many areas are located 200 miles
from the nearest railroad. No railroad
parallels the Yang-Tzu river, although a
number of lines feed into its river transport
system.

. d) North-south railroad lines connect the
'~ northern. Siverian and Kcrean borders with
Vietnam and the Kuang-tung coast.

1) While about 2&,200 miles of jnland gaterway
arzs considered navigsble by dt?f@f?ﬂh aizes ond
: types of craft in China), 2/3 of thase wateryays
. : . are usable only by flat bottviad Junksg and
SaiCans .

5) China is alsoc short of coastal and dsep water
- shipping. She has under 500,000 tons short of

. her estimated minimum needs.
he produced better - 2. Before 1937, Chinese industrial development was con-
han in another be- - fined to six areas, all of which were relatively
te, resources, tranz- _ ' accesialle to foreign intercourse. All except one
25, access to re- : . - . were located near the eastern China coast.

5 to markets, people's .
: : ) a. Liao-ning province in Soutkern Manchuria.

eses. There are iron and steel mills at Fuishun. Large.
- _ o railway shops, shipyards and cement factories as
=5 agaiust data, - ) well as important chemical plants are located in
. _ . . the area. An automobile plant capable of pro-
gocieties of the - ducing 30,000 trucks per year was ccmpleted in 1956
pon people who live et Ch'ang- ch'un..

nities, regions and
xoods and serrlces and for
eir goods.

EKC

wll Toxt Provided by ERIC
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38. The class should be asked: "What factors are necessary for the
.production of steel. (Physical plant, labor, iron ore, coal and
limestone.) Using maps, the class should locate the most rsbicnal
locations for the production of ‘steel.. These locations should be
- placed on & map. This map should then be checked against a map -

of Chinese manufacturing centers.

It should be evident Trom this activity that there are several im-
portant factors that Llie class pas not considered. The class should
attempt to guess what these faccors are. If necessary, project maps

Overhead Prdjecto
Meps of distribut
' resources.

' For meps of China

centers, see
Shabed, Chi
p. Sh.
Cresgey, Land of
industry, p.

Note: These maps
It may be necessa

. or a talented stu
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empre———

d be asked: "What factors are necessary for the
steel. (Physical plant, labor, iron ore, coal and
sing maps, the class chould locate the most rational
the production of steel. These locations should be
t. This map shou:ld then be checked egainst a map
ufacturing centers. : .

vident from this ectivity that there are several im-

's that ihe class has not considered. The class should
gs whet these faciors are. If necessary, project maps

Overlhiead Projector.
Maps of distribution of Chinese
- Yesources.

For meps of China's industrial
centers, see:
Shabad, China's Changing Map,
p. Sh.
Cressey, Land of the 1e 500 Million,
1ndustry, P. 150.

\

Note: These maps are rather complex.
It may be necessary for the teacher
or a talented student to draw a --
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S. Draws inferences from a comparison b. The lower Yang~-tzu plain contain
of different map patierns of the ' textile production., Shang-hi is
same area. ' : and irdustrial headquarters of tr

¢. Northeastern Ho-pei province fru
| - _ Great Wall. K'ai-lan has coal mi
' industrial centers. Tiensin, la
mills and flour milling; it is a)
for north China. '

d, Fostlern Shaa-tung provinee has o
iron industry along vith.cobion !
flovr wills and vegeizble oil pl:
e. ‘fhe Liang -Hu hasin has® icon sd .
Tan-yang based on the Ta-ysh iior
Wu-Han metropolitan avca theire azx
mills and factories preparing te
tung oil and vegetable oils. In
are textile amd flour mills and
In 1956, a new iron and steel pl
stricted with Soviet ald, at Ta-

- ¥, The Hai River delta has silk 1ile
’ factories, and factories that pro
goods, light bulbs, electric fixt
sugar refineries and small shipy

is a part of this area.

]
|

G. Man uses his physicai envircennent 3¢ The logs of many of these areas to
in terms of hig ecultural values, ' Sinc-Japanese War forced a shift of
perceptions, and -level of tech- ' o industry to the northwest and south

nology.
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nces from a comparison _ b, The lower Yang-tzu plain contains 2/3 of China's
map patterns of the textile production. Shang-hi is the commercial
: and irdustrial headquarters of the country.

c. Northeastern Ho-pei province from Peking to the
Great Wall, K'ai-lan has coal mines and three
industrial centers. Tiensin, has cotton textile
mills and flour milling; it is algo the chief port
for north China. -

d, Eostern Shaa-~tung perviace hag conl sidning aad an
iron industry along with cobion buehila milla,

Flour midls and vegelzhle oll plimwd,

@, ‘Me Liang Hu hagin hag fvon aud stanl woolky at
Tan-yang based on the Ta.ysh ivon @aiqca, In the
Wu-Han wetropolitan aiva therve are 1\L“P texbile
mills and factories preparing tea, coggs, cotton,
tung oil. and vegetable oils. In Chlang-sha there:
are textile amd flour mills and antimony refinerie:
In 1956, a new iron and steel plant was being con-
structed .with Soviet aid, at Ta-yeh.

- £, The Kai River delta has silk rilatures, ceramic

- factories, and.factories that “produce rubber
goods, light bulbs, electric fixtures, as well as
sugar refineries and small shlpyards. Hongkong
"is a part of this arca.

s physical envi;cmneﬁt - ' 3. The 10ss of many of these arveas to Japan during the
his cultural values, ' Sino-Japanese War forced a shift of some of China's
, and level of tech~ induatry to the northwest and southwestern provinces.




-62«
ghowing the distribution of transportatidn, population ' simpler map based
distribution, and agricultural production. Ask: What 4 and the production
possible effects did the historical patterns of population China, pp. 535-540

distribution and trade bhave upon the development of industry?

Several members of the class should check the literature to
£ind out why the class was in errcor in their location of
steel centers. '

Now have pupils examine a map of industrial centers more

- carefully. Perhamps have a commitiee .prepare a bulletin

board display showing such a map. Attach cards describing

the different industrial centers by string to their appropriate
location on the map. Have pupils compare the wap of industrial
-centers with maps showing winerals, transportation routes, pop-
ulation distribution,; and land use. What relationships do +they
notice? : .

39+ Use a map to point out changes in industrial locations after the
Sino-Japanege Wor and after the revolution. :
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tribution of transportation, population

vd agricultural production. Ask: What

s did the historical patterns of population

d trade have upon the development of industry?

of the class should check the literature to
e claess was in error in their location of '

examine & map of industrial centers more

chaps have a committee prepare a bulletin

showing such a map. Attach cards describing
industrial centers by string to their appropriate
e waps. dave pupils compare the map of industrial
ops shiowing winerals, transpochation routes, pop-
bution, and land use. What relationships do ihey

psoint out changes in industrial locations after the
War and after the revolution.

simplér map based on the maps above
and the production tables. in Hu,

China, pp. 535-540.

.é\



G. A-nuiber of factors--climate,
surface fPeatures, natural re-
sources, accessibility and -
history--affect settlement
patterns.

8. Sets up hypotheses.

-63-

of two new ivon and steel plants dn

a. Chungking developed small steel

be. Sﬁu ¢st Ssu~ch'uan province ar

produced sugar, salt, paper, si
and cotton textiles, using coal
as power sources. After 1953, a
area was built at T'ai-yuan, alo
electric plant.

After the war and the revolution, a
asgreemnent provided Soviet aid for

ae. The plonk at Pa«yeh -in the Liany

b, A plant at Pan-blou in Ipouyw o
baged on loeal jron and coal yea

The Chinese cultural background ‘did
the development of industry or indu

a. The method of science did not dg‘
did nct enter the Chinese pictur
Prom the Occident.

b. Social prestige did not allow th
Chinese to do-any sort of manual
enginecering.

¢. Because of social bias, investnme
more acceptable than investment
trade. :
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Cactors--climate, - ' - Chung&%ng developed small steel and cement plants..
es, natural re- - '

2sgibility and ' b. SHE. <st Ssu-ch’uan province around Lo-shan

zct settlement > , produced sugar, salt, paper, silk, matches, pottery,
‘ and cotton textiles, using coal and hydroelectricity

as power sources. After 1953, a heavy industrial

area was built at T'ai-yuan, along with a thermo-

electric plant,

4, After the war and the revolution, a Sino-Soviet
agreement provided Soviet aid for the development
of two now ivem and steel plands in China.

a. The plont at Wa-yeh -in Ghe TiaWT-”u Bagin,

b. A plant at Peo-tlou jn Tenow I 'ngﬂlia, vleh lg
‘based on loeoal iron and eoal reloEreESs.

theses, . | : 5. The Chinese cultural beckground did not encourage
e ' the development of industry or industrial workers.

v a. The method of science did not develop in China; it
. ' ald nct enter the Chinese plcture unt11 1mported
from the Occident. :

b, Social prestige did not allow the upper class
~ Chinese to do-any sort of manual labor such ag -
englneerlng.

c. Because of soclal bias, investment in land was
more acceptable than investment in industry or
trade. ‘
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40, Ask: Why do you think that .the Chinese government made little
effort to industrialize before 19117 The class will probably Yang, C.K., Chines
develop several hypotheses. Do not analyze them at this time. : The Family a
These hypotheses should be listed and checked later in the unit. ' i '

Tell pupils that the study of the history of China should help
them check their hypotheses,

The teacher might

Hu, Chang=-tu, Chir
Its Society,

Chang, Ferry, Chix
. Force

L e
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think that the Chinese government made little
inlize before 19117 The class will prcbsbly
ypotheses. Do not analyze them at this time.
should be listed and checked later in the unit.

the study of the history of China should help
hypotheses. ’ '

s

The teacher might use:
Yang, C.X., Chinese Communist Society.
The Faaily and the Village

Bu, Chang-tu, China, Its People,
Tts Soclety, Its Culture

Chang, Fexry, gbi.na_l“;pgveloyment By
Force T

- AAL .




G.

G.

Capital formation through
saving is a major means of
increasing an economy's
economic output over time,
becauvse it increases pro-
ductive capacity.

Bavings are required for
investmeat in capital
foermation.

Sets up iypotheses. -

Whether or not a country's size
provides more advantages or dis~
advantages depends upon the prob-
lems inhabitants face at a partice-
ular time, upon thelr goals, and

-upen their level of teChnOlO@o

-65-

F. The great size of China has had advantag
advantages; these are being changed some
nological developments.,

6.

In all probability, China's greatest
industrial capital 10 increase this
their own efforts, the Chinese must s
value of each year's production and
developing resources which will incre
in future years,
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wtion through ' 6. In all probabiliby, China's greatest luck was and is
ma jor means of industrial capital 10 increase this cepital, through
n economy's . - their own efforts, the Chinese must save some of the
put over time, . value of each year's production and must invest it in

creases pro=- .. developing resources which will increase productivity
in future years.

ot a country's size : - E. The great size of China has had advantages and dis-’
e advantages or dis=~ 7 advantages; these are being changed somewhat by tech-
epends upon the prob- ' _ nological developments.,

ants face at a partic- ' -

pon their goals, and
evel of technology.



41, Aok ihe olass 'to tousider what they have lcavued so far and

what they bave learnsd in past units and conises about econcuiic
givwthe What are some factors which they have not considered

"800 far which would affect the rate of growth? How could capital

accumulation be financed? What chances do they see for.financing
it through increased agricultural production of savings brought

about by reduced consumption of present agricultural production?

4o,

Have each pupil prepare a written summary of how he views China's
potential for industrialization. Read aloud several of these
papers. Tell the class that they should kecep their ideas in
mind to check as they study the rest of the unit.

Review with pupils the gent:alizations they developed during
their study of the U.S.S.R. bout the possible advantages and
disadvantages of size to a country under different levels of
tecbnology. Ask: TDoes the data you have studied about China
tend to support or contradict these generalizations?. (Deal with
gize In relatlonship to potential resources and varied climate,



S. Revises generalizations, if

necessarv, in the light of

newv data.

S Sets up hypotheses.

-67-

1.

24

* be The distonce of iaterior yvavt:

3.

_ man can use productively.

e

Great size might make possible a
mineral base for agricultural an
ment.,

Great size combined with the fac
further north and south than doe
more likely that China will have
and thus a base for more agricul
the U,.S.

as The range of latitude glvns M
from humid mib-tropical Lo su

ocean glves the iaterior a oo
- cold winters and hot summers.

Great size might make it essier -
support a large population; slih
is not so important as the size

a. China's population density pe
as compared to 49 for the U.S

b. Chinat's population density pe
cultivated land is 1625 as co
figure of 219.

The large size makes possible de
The large size also creates prob

and iransportation within the co
prior to modern ‘technological de



sneralizations, if

in the iight OF

otheges.
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l. Great size might make possible a large soil and

2.

3.

5.

mineral base for agricultural and industrial develop-
ment. ) :

Great size combined with the fact that China extends -
Further north and south than does the U.S. makes it
more likely that China will have a more varied climate
and thus a base for more agricultural crops than does
the U.S.

a. Th.2 range of latitude gives China a eclicats vanging
from hmaid pub-tropical to suhavatic.

be The distonce of interior yvarts of China frua the
onean glves the laterior a conkivrzatal elimats: of
cold winters and hot summevs, ' '

Great size might make it easier for a countsy %o
support a lavrge population, although size itself
is not so important as the size of the area which
man can use productively. :

&« China's population density per square mile isg 179
as compared to 49 for the U.S.

b. China's population density per square mile of
cultivated land is 1625 as compared to U. S.
figure of 219. '

The large size makes possible defense by retreat.
The large size also creates problems of commmunication

and transportation within the country, espscially
prior to modern ‘technological developments.
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to ease of develop:.ng transportation, .to potential for supporting
a large population, to potential "deferse by retreat" in times of
foreign invasion, etc.) Some of these generalizations need to be
tested against historical data. Therefore, ask pupils to keep
them in mind as they study ‘Chinese history. They should consider
the following questions (among others) as they study Chinese
history: What kinds of problems do you think China's large size
may have led to during its history? Do you think they would be
as lmportant today as in the past? Why or why not? What ad-
vantsges has China‘s size provided-it in the past? Do you think
these advantages are as likely to occur today as in the pagt?

Iﬂzy ox why not?




OBJECTIVES FOR SECTION ON
CHINA'S HISTORY

GENERALIZATIONS

J. Although culture is always changing, certain
parts or el=zments may persist over long
periods of tiue.

1239

bo'

Co

Culture may change by a pioc:zs of
diffusica,

Culture nisy cronge as a result of .
innovation from within a societby. -

Persistence of cultural traits may
result from a reluctance to change
or from lack of condltions which
Turther change.

1) Some values are conducive to change,
_Some make change difficult.

2) Family structure may make change difficult.

d. Attempis to introduce change may fail if those

trying to bring about the change do not try to

nmake changes congruent with existing structures.

m—

1) Fraquently, change inbreduc
is = .cepted for a time, wit
of t.aditional walue:s ~nd ¢
genavalizabions, Labtoe, a3

soaiaty discover thabt thay
'1u11j in vhe dominant bt
sociaty), or as they Jusale
gacariby, they react by 2z
movements to reject the fox
restore their old cultural

_e. Changes in one aspect of a cu
effects upon other aspects; c
whether they are technologica
ization, . in ideology, or what
of the cultural system.

2. A given culture is an integrated
fundamental pdstulates or values
|
3. Ideologies are important for the
to the polltléal system,

4, An institutlon 1s 4n interrelate
and the attached meanings are va
stitutions are consumated by cha
consequently by changes in relat



ilture is always chainging, ceriain
..muntﬂ may yperslast over long
t,i'ze.

way change by & prociss of
Mle

riny change as a. result of .
ion from within a society.

ence of cultural traits may
from a reluctance to change
“lack of conditions which
change.

“values are copducive to change;
‘make change difficult.

Ly structure may make change difficult.

s to introduce change may fail if those
to bring about ‘the change do not try to

anges tongruent with existing structures.

OBJECTIVES FOR SECTION ON
CHINA'S HISTORY ‘

1) Frequently, change introduced from the outside
is accepted for a tilwe, with resuliing loag
of tiraditional valuzs »nd coaflict betucen
geazializations. Lute, 4 cenbors of the
goaigty discover that thay cannob pavhictiale
flly 3a the domiannt (mU 1@ (o deafrating
aociety), or as thaey 2:/2)op foelings of in.
sacnrity, they react o; 2iveloding nabi.istic
moveinents to reject the forelgn cultuse »nd
restore their old culiural values.

e, Changes in one aspect of a culture will have
effects upon other aspects; changes will ramify,
whether they are technological, in sociel organ-
ization, in ideology, or whatever else is a part
of the cultural system.

. A given culture is an integrated whole, based on
fundamental postulates or values.

3. Ideologies -are important for the structure they give
to the political system.

‘4. An institution is an interrelated eluster of roles
and the attached meanings are values; changes in in-
stitutions are consumated by changes in roles and
consequently by changes in relations between these



members and outsiders. Unless these roles
relations change, the institution does not
change despite changes in the particular
people who assume the roles.

5. The existence of culture is dependent
upon man's ability to use symbols in
cemmunication.

6. The structure of the family varies from
soclety to socicty.

a. A1l cultures Beve the nnclise Foaily,
aven 1f the 722} zmbiaes the olzar
fomlly In A e cowplox Sabo LT d Loally
wystome

T. “cthods of cate seloction vacy over, tine and
fcrum one soclety to another. ‘fhey tre in- |
timately tied wp with the position of women, . .
with aititudes toward property, with the
stratification of society, and with other
agpects of culture.

8. Families in different socleties have different
functions and differing ewphasis upon similar
functions.

a. The impact of common patternsg of child
rearing and many otber situations in any
culture tend to dcevelop personalities with
some common characteristics (modal person-
uliles) different from those in other
societles.

ii

10. Every society provides for a differen

11, Whenever things valued by a goclety

varied and scarce things Ly sub-grou

status esmong its membiers on the dimen
and sex plus additional aspects of di

will be differential access to and co

society. These scarce things may be
non~naterial.

8. Coa'. 0ol of one or a {4 B .02 thi

8 20 ) %0 zet coutiol o - ey g
hlugs A thag gyLoatl Y ate o gl

h, Sculele3 Jidtar in i elathl.2
aseribel +d achievsd ,tatuge; %
aud Ao sV sbive airgh il o eah

ce Muaters of a class can w2 wué 0
various means and this whility m
down; the degree of vertical wuobi!
from soclety to society.

1) The more widespread the system
the greater the monility betwe

. The amount of class conflict is r
degree of difference among classe
of vertical mobility pcssibley; an
to wbich propaganda is used to ar
class conflict.



2r8, Unless these roles
e institution does not
igeés in the particular

t0 use symbols in

e family varies from
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K

ve the nwelear fuaily,
f\l eorbines the mclear
e complex cxtolcd foally

o another. They are in- |
‘ th the position of women,
;:.rd. property, with the
SOciety, and with other

‘ering empbasis upon similar

ommon patterns of child

y other situations in .any

» develop personalities with
«racteriotics (modal person~
nt Trom those in other

deotion vasy over $ixe and

fent socleties have ‘di,fférént

ii

10, Every society provides for a differentiation of
status among its members on the dimensions of age
. and sex plus additional aspects of differentiation.

Whenever things vaiued by a cgoclety are scarce, there
will be differential access to and control of these

.varied and scarce things by sub-groups within the
society,

These ‘scarce things may be materiel or

non-material.

a. Contiol of one or a fuir g0 e thiogs may enable

b,

Co.

» %o zebt conbrol ol «'"er Roniece ~nd valned
-4 thus pyeould v ate crmbral. op Puite

a gl.‘r"'"

hiugs

Scelelies didfer in R celasl.e owdber of -
asaribed and achieved tatugel oy provide
aad o 2 abive i‘:lﬁp't*vtat"; “a earn,

Members of a class can move cud of the elassg by
various weans and this wchiliiy may.be up or
down; the degree of vertical uwobility varies
from society to society.

1) The more widespread the system of cducation, -
the greater the mcbility between classes.

d. The smount of class conflict is related to the

degree of difference among classes, Uhe degree
of vertical mobility possible, and the degree
to which propeganda is used o arouse or yrevent
class conflict.



13.
ik,
15.
16.

“1T.

e. Groups may engage in power conflict; one
group tries to dominate another in order
to take something from it, such a&s labor
or wealth.

Political power is unevenly distributed in
a population. :

a. It i8 unlikely that one could find many
‘genuine .autocracies (rule by one) in
complex govervnronta; they are 1Li ‘nﬂ.y to
be oligarchisg.,

A law or policy must be effzctunied and

opplied; in that prosess the whole Jecision-

making end iniluence process goes cn again,

Selective recruitmcut of bureaﬁc;:acy may be
and often has been responsible for its def-~
inition of its political role.

Every econcmic system 'fa‘ces: scarcity or a
lack of enough productive resources to sat=-
iosfy all human wants.

Division of labor and specializétion in any mass
production system permits reduction of cost per

unit purchused.

Output can.be increased by the development of

tools and power to replace manpower.

iii

18,

20.

2l.

The fundamental difference between
is in how and by whom the basic ec
over allocation of resources are
in who owns the resources.

8. In command economies, most of t
decisions are made by ‘t_1_1e gover

b. Economic systems are mgually mi

¢+ By its tavation polielss, juvex
who #hall get what propgootlon o
. of outpat of the cccrimic gyrhe

Liviug leozlas dn the U. 8, are was
to thoze in mout cowntries,

a. People's ifecas of what coanstit
level of living on one haind ox
other chenges as average livin
and differ from one country to

Political revolutions are usually
multiple causes.

The world is a community of inter

a. In the international system, i
only invite the use of some fo

b. Wars have an important economi
people.
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18.

19.

20.

21.

The fundamental difference between economic systems
is in how and by vwhom the basic economic decisions
over allocation of resources are made, rather than
in who owns the resources.

8. In command economies, most of the basic economic
decisions are made by the government.

b. Economic systems are ususally mixed.

c. By i63 *"uabton polieclies, oversiants Iafluenca
w0 0all Lot vhat peogosction of cerdata %inds
of onkpab of the ceconimic sy shem,

Liviwg lerels in the Us. 8, are veuy hich compan»d
to thoze 1in most counteles,

a. People’s idecos of what comstitvtes an adeqia
level of living on one hcond ox poverty on the
other changes as average living levels change
and differ from one country to another.

Political revolutions are usually the rezult of
multiple causes.

The world is a community of interdependent countries.

a. In the international system, inequalities of power
only invite the use of some form of coercion.

b. Wars have an important economic impact upon
people.



2.

23.

6o

iv

There are many sources of national power in
dealing with other nations. Military capacity
is an importent factor but not the only onme.
Differences in population, resources, and
economy may be reflected ln differences in
national power.

Imperialism, and particularly attitudes of
superiority by members of the Imperialist
country, give rise to feelings of frustration;
when combined with the diffvision of nationalistic
ldeas from other eowntries, it halps glve rise

to freca cther covnbyica, it helps glve rise %o
Tealings of naiionalicm,.

SIS

At L

Sets up hypotheses.
Identifies value conflicts.
Rerds for the ﬁﬁin ideas.

Evaluates sources of information in’ terms of
bias snd competency.

Eveluvates gources of information in terms of
completeness of data,

a. Rejecta post hoe argments and whole-part
falacies.

MoXes and interprets Limelines.

Q

Te

8.

10.

1.

2.

a. Compares lengthe of periods or

rv

Has a sense of the passage of time

Looks for relationships among even
country and within a world-wide ¢

Tests hypotheses égainst data.

Generalizes from data._

FETY

v 7,
it

[

PRty

15 CURXICUS AROUT SCCTAL DATA AND N
AUD DESY:LIS ‘O READ ruD S<UDY FUR
HOUTAL GCIENCES.

IS COMMITTED TO.THE FREE EXAMINATT
ATTITUDES AND DATA. SEARCHES ACTI
POINTS OF VIEW AND INTERPRETATIONS

IS SCEPTICAL OF THE FINALITY OF KN
GENERALIZATIONS AND THEORIES AS
SUBJECT TO CEANGE IN THE LIGHT OF

APPRECIATES AND RESPECTS THE CUL
OF OTEER COUNTRIES, RACES, AND REL

IS SCEPTICAL OF THEORIES OF BINGLE
SOCIAL SCIENCES.

IS SCEPTIGAL OF PANACEAS.
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C8.

‘ conflicts .

in ideas.

\
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iv

.

8.

10.

2.

Has a sense of the passage of time.
a. Compares lengths of periods or events.

Looks for relafionships amohg events within one
country and within a world-wide time framework.

Tests hypotheses against data.

Generalizes from data.

¥5 CURICUS A30UT SCCTAL DATA AND HUMAN BEHAVIOR
AD DESY.ES 10 RiEAD £wD < UPY FURIAZR 1IN THE
ECCTAL CCTENCES, '

IS COMZMUETED T0 THE FREE EXAMINATION OF SOCTAL
ATTITUDES AND DATA. SEARCHES ACTIVELY FOR DIFFERENT
POINTS OF VIEW AND INTERPRETATIONS.

IS SCEPTICAL OF THE FINALITY OF KNOWLEDGE: CONSIDERS
GENERALIZATIONS AND THEORIES AS TENTATIVE, ALWAYS
SUBJECT TO CHANGE IN THE LIGHT OF NEW EVIDENCE.

APPRECIATES AND RESPECTS THE CULTURAL CONTRIBUTIONS
OF OTHER COUNTRIES, RACES, AND RELIGIONS.

IS SCEPTICAL OF THEORLES OF SINGLE CAUSATION IN THE
SOCIAL SCIENCES.

IS SCEPTICAL OF PANACEAS.



Although culture is always
changing, certain parts or
elements may persist over

long periods of time.

IS SCEPTICAL OF THE FINALITY
OF KNOWLEDGE: CONSIDERS GEN-
ERALIZATIONS AND THEORIES AS
TENTATIVE, ALWAYS SUBJECT TO
CHANGE IN THE LIGHT OF NEW
EVIDENCE. '

Culture may change by a process
of diffusion.

Although culture is always
changing, certain parts or
elements may persist over

long periods of tinme. -

Evaluatcs soﬁrceé 6f infoimation
in terms .of completeness of data.

Makes and interprets timelines.

-69-

III. Although culture is always changing, c
elements may persist over long periods

A. Chinese civilization extends back
and its system of empire governmen
than any government in the history

1. Chinese civilization began alon
valley. The people are thought
a nurber of culture traits from
Middle East. They also develop
traits which were to persist fo
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E: CONSIDERS GEN-
NS AND THEORIES AS
ALWAYS SUBJECT TO
THE LIGHT OF NEW

rulture is always
certain parts or
y persist over
bds of time. -

sbﬁrcéé-éf information
!of completeness of date.

[-interprets timelines.
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III. Although culture is always changihg, certain parts or
elements may persist over long periods of time.

A. Chinese civilization extends back thousands of yeeass,
and its system of empire government lasted longer
than any government in the history of mankind..

1. Chinese civilization began slong the Yellow River
valley. The people are thought to have borrowed
- a number of culture traits from people of the
" Middle East. They also developed certain culture
traits which were to persist for many years.
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Remind pupils that Communists in the U.S5.S.R. had tc try to
overcome some of the pecple's attitudes but also were able
to make use of some of the other attitudes and values. Say:
As you stu?y Chinese history, try to find out if the same
was true in China.

Have pupils list some of the generalizations they have developed
from the study of the history of other countries. Suggest that
they keep this list in mind as they study Chinese history in

order to decide whether or not they can still accept these general-
izations or whether they wish to place limitations upon them.

. Have & gfoup of students present a éymposium on the early'river

valley civilization at the time of the Shang Dynasty. The

pupils should discuss the ideas of anthropologists about possible
diffusion from the Middle East and why anthropologists disagree

on this point. They should also describe culture traits which
persisted for many years, such as the emphasis upon ancestors in
religion and philosophy, the development of a written language, and
the role of the ruler. In addition, the group should describe some

of the beginnings of certain klnds of material culture for which
China became famous later.

Have & pupil or a group of pupils begin a timeline on important.
events in China. (They should edd to it as the unit develops.)
This timeline should be pluaced under timelines for events in
Western Burope, U. *, and Russis.

Important activity to include.

- Anthronology Proje

Help may be obtain

Fairseryais, The
Civilization.
SecpeT, Pageant of
Cnapter 2..

in the Frerge
Series on Bro
Oracle Bones.

Widening Worl
Stavrianos, G
Man, p. 5L,
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that Communists in